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EXPANSION OF THE FPHRASE STRUCTURE RULES

The purpose in the first section of this unit is to add to the Phrase
Structure rules in order to account for some of the basic constituents

of the English sentence which were not handied in the first 18 rules,
The unit contains two different kinds of expansions, The first two
sections (those dealing with the place and time adverbials) present new
versions of Rule 2, whereas the other two sections deal with new phrase
structure rules antirely which, in effect, subdivide tw¢ of the five

main verh claggen.

At this point in the instruction, pupils should review two im;:ortant
facts about phrase structure rules and kernel sentences: 1) Kernel
E‘ sentences, as we now know them. are preduced by appiying the eighteen

phrase structure rules, 2) Sincs the original phrase structure rules
are not complete (thet is, they produce some ungrammaticsl sentences
: and they cannot produce some gentences which are truly kernel sentences),

1 we must expard the rules, A complete grammar would produce all the
grammatical sentences of English and only grammatical ones, Of course,
L the complete grammar may never bewritten, but each year we hope to
add rules {o account for mor= and more of the complexities of our
language, Without expanding wie phrase structure rules, we could not
account for such things as time and place adverbials or the fact that
4 gome transitive verbs are followed by more than cne NP,

As a teacher you are, of course, very much aware of the differences

‘ Letween phrase sturcture rules and transformsation rules, and the
; reason for each, All elements which can be most economically accounted

for in the phrase structure rules are put there and the result is what
we term the kernel sentence, These sentences seem to correspond to
what we intuitively feel to be the basic sentences of our ianguage~--those
which enter inio various transformations as units, A phrase structure
rule expands 2 gingle item at a time, Transformations, on the other
hand, operate cn 2 string of elements which have been generated by the
phrase structure,

. The expansion which we wil be writing will be aumbered in this way:

s new versions of old rules will retain the number of the old rule, but

. they will simply rewrite them in a fuller form, Additional rules which
expand a part of & previcus rule will be labeled with the mumber of the
previous rule followed by a2 decimal point and another number (Rules
8.1, or 10, 1, for example),

B Adverb of Placa

. The first expansion will deal with the adverb of Place, which is an

optionzl element in kernel sentences, Sentences may have it, but need

not. Rule 2 is thus recast as VP —5 Aux + Verb {Laoc), Since

Verb is a symbol which stands for the entire set of English verbs, the

new rule staies that all English verbs may be followed by a place adverbial,
Perhaps you skould point out that the place adverbial r.en be & single

word or a phrase, Later we will find thet it may also be another embedded
kernel,
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Adverb of Time

A"gecond expansion will deal with the Time adverbial, which will be

added to the phrase structure rules in the same way the Place adverbial
was added, Since it can also occur with any English verb, the new elemcnd
(Tm) is added to Rule 2 after the other optional element (Loc), The

newly formed rule is cast as follows: VP —» Aux + Verb (Loc)

(Tm), Thus we see that an adverbial of time can occur in kernel sentences
after any English verb and, if a pkece adverbial is also present in that
kernel gsentenes. the time adwverbial will follow it, Like the nlace
adverbial, the time adverbial can be a single word or a phrase,

Active and Static Linking Verbs

An additional rule, not a re-formed rule, is needed for subdividing the
class of verbs labeled Vlnk, Within this class of verbs are subclasses
which behave quite differently from one another, The addition of a manner
adverbial following the Pr serves as a test to differentiate two classes

of linking verbs, Those linking verbs which permit the addition of such
an adverbial are classified as Vlac, The letters ac in the cymboi are

a mnemonic device t0 remind the pupil that it is an active linking verd

{(e. g., become) that takes the manner adverbial, Those linking verbs
which do not take the manner rdverbial are labeled Viet, The letters

st indicate that it is a static linking verb (e, g.. remain) thet does not
take tLe mamner adverbial, Pupils may disagree shzut & few of the static
linking verbs, especially ~° verbs of sensation, such as taste,

feel, sound, and smell, Some may feel that these verbs can take manner
adverbials (e, g,, "It smelled good graduslly,” or ""This pop tastes

flat quickly''), The additional rule thus divides linking verbs into two

classes: ) .
Rule (8,1} VIink ~—) Sl‘vVi:: (Man)

Adverb of Direction

Another verb class which can be divided into several subclasses is the
one which has been labeled Vin, Within this class are verbs which can

be Zollowed by adverbials of direction, These adverbials, which have becn
labeled Dir, follow verbs of movement and answer the question to or
toward what location. The directional adverbial, like adverbials of time
and piace, can be a single word of & phrase, The rule which separates
intransitive verbs taking directional adverbiais from all other iutranzitive
werbe is written as follows:

#Rule (10,1} Vin ——) “ﬁd (Dir)

The directionzl adverb immedistely foliows the verb, Thus, when the
kernel sentence is generated by the new phrase structure rules, it will
have & position preceding that of time and manner adverbials if they are
also present in the siring, For example,

Vi‘d + Dir + Man + Tlm Vid + Diir +
"He went ififo the room qmlmy then," and "They drlve to New York

Man + ’Flm

slowly in the evening,
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Key to Student Version
ADVERSB OF PLACE

Rule (2) VP — Aux + Verb (Loc)

Exercige 1: Page 1
§§n¢;e Eese  twenty sentences eimply offer a comprehensive review of

the original Parase Structure Hules, adept students may not nead to
do both A and B, Four sentences in A (3, 5, 8, and 9 ) contain sub-
ject NPs, however, whichk should provoke iuteresting discussgions,

Ath\xe*trm{*sing'!'er:'ne*' + come !

L
The coming

#2, § + Junigr + sing + pres /yve'*'e loge + the t key + s
’}xi.zer X/B v

(Students should write the symbol to indicate a missing determiner. )

#3 @ + Mr, Jimson + sing + pres + understand + slow}}).y
Mr, rir;s/cm understands slotfly.

(Titles, such as Mr, in this sentence and Ensign in Sentence 9
may be considered part of the noun, )

4, Th\? + wind + sing + pres);e qu\et
\ \/’/

The
# 5, p+1 "/}ur + pres + will+ be *+ late,

l

il be late,
At this point we derive the plursl form of the first person proncun according
to the pattern established in Phrage Stmc*ure Rules but actually we
is not the plurel of I} We doesn't mean "many I's,"

6, The + movgi'/ing + pres + a + dollar + sing
ﬁ aomn
7. The + catch + preg + must + have + en + p+

The catcher mu have dropped
the + ball + ging

e M

the
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#8. The + townspecoge + plur+ past + have + en + hang + thn + rystler + /sm,
\ /
- The %epeople d ed the rust 2r,

#9. ¢+ Ensign Duffle + sing ¥+ past + be + ix;g'l' pian + the + mutiny + sing
~ L/
Ensign Duffle }é pMing t}: mtiny.

: e
| 10, The + butler ing + nt have ¥+ 2n + pe + h

LN TN VA
- : The

have
B, 1, Tlie + air /mg + pait /heve ¥ en \+ become + 817oky.
; The \ hsd béc/ome smoky.

% Thet Hayworth+ plur'l'pr\s*%’be"'u{ 3+ plap+ a + pariy + sing
\ j
The Hajwarms lanni

B“b "'

; 3. § + Leprechaun + plur + prv hKe +en '!'/be + h{ere "
. ™~ .'_,

EN
e
| :Qz 4
~

Lenrﬁchauus have been here.

4, 3 + Lvery\one'*' sing + pas{;‘}bau mive'ﬂ' en‘*'/bn.ng bgit'* plur
shoul

Everyone have brought

" T‘S: " dongh ¥ smg * pres in + r1se + quick /ly
he K

doufh m e quickly, s

.

6. Th:is + drum + sipg+ pres n+ hold+ :I*' chemical lur N
n ho‘d che .

This ca ‘
7. 9+ Wﬂhe {smc + past 2 *+ apgry -

& 8. The + album + ging + past+ 8 n*have"‘ en+ + a+ titlet s}
'l\he élb ould n.!we \f ; }Lﬂ{wg '_
9 9, The + marshm<llcw + ging + past + h'*ve + e\ Zay + soft ]
’1\!1 s’( ed

1low soft,

# 10, ¢ + Peo{e lur + past };ay <+ b\e + ing\', + ﬁow + im]yoatient ‘ :‘-’l
Pcople might be g\rowing impdtient, x

(’” p; is an e,,a.aple of & nourt Which appears only in the plural, )




Exercige 2: Page 2

You will notice the telescoping and the omission of rule mumabers in the foi-
lowing diagrams. However, any student who seems coafused should be en=
couraged te include each step of a complete diagram with close attention to
‘an orderly application of each ruie.

1, The design was ornate,

___Sentence

T TI N° |
Nent \
. sing
an ’

‘ .
L"' Ninp + sii + past + e + /clij
et d&i "’/;g + peL + be *+ ornite
ign \was/ ornée:




#2, lce melted around the edges.
Sentence

P ' ¢

Ve‘rb + around
/ \ A!”‘l \) the edges
n
Tns /

T NO t -
| ‘ . Past /
Nm
'!I' + + 8 + gt + Vin + around the edges
' | g
g + Ice + sing + past + melit + around the edkes
\ce/ meited around the ec{ges.

HAround the edges is a Loc, not yet accounted for by our oviginal Phrase
Structure Rules. Sentences 3, 6, and § contain similur elements. )

3. Mount Etna sméked in the distance,

: ' Sentencg\\
/ §
NP ‘ />VP
/ A Verb + inthe distance'
Aux,
m
T Via
o P?.st
T T N
Nent
 Nin
| e
T ¢« N + ainfg +  past + Vin + in the distance
f

‘ |
# + Mount Etna yAng + ps\o /“‘/smoke + in %hfe distance
Mount” Etna smoked in the diétance.




4, The newspaper is upstairs,

__Sentence

r s%ng j

T + Nin *+ sing + e*Loc

’}vﬁ + newspam?smg + prl\ //be + upstaira
The rﬁvspaper upstan's.

5. The story ended abruptly.
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#6. You may putter in the basement. (You may be sing or plur,)
| Sentence_‘\
—~—~—
/ l A //

nk Verb + in the basement;
I
; / | \ . |
‘ ) Tns SM
| N N° i |
I Pres
Nenig A Vin
Nhum e J i
’ »
T + N'I"\sm + sing + pres + L;I +  Vin+ in the bagsement
¢ <+ Ydu\ + sing <+ pres + may + puttert in the basement

Yeu may putter in the basement

7. The fighter weighs 186 pounds.

Sem:ence

VP
: A / \Verb
/ \ N \
, Aux
T4

’ 1
Tns
Ncnt . | Vmid

: j | Pres ,
~ N‘an I l‘:’
' Nbum i
| 8 plur

w 1 | in

T + Nhum+ sing + pres + Vmid + T + Nix + plixr

o d \.~~

ighs 198 pounds,

~"}he ﬁghki + s!ng + 1’»\3 +  weigh 198 + pi‘mnd*' plur

e

e e . bttt titits Wi, i i, = Wﬁ"""'&’“’;»m:
» J , 3~ -

- v '3 ~ e - N o
< Y ] N - A - 3
v g f o & ‘ 3 A . S * - P > ’%‘ ~ o v o . 3 -gﬁ‘!;.f
[e 2o 2 B N < -~ P oi -
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#8. Mother will malke the salad in the kitchen.

Sentence
. \\\
/N 5
L ‘ . ’
\ erb + in the kitchen

// [\
T

Aux
F No - }#1 Vt’:./ﬁbl?iNo
I;c‘nt Pres ]w / Nin }ing

s". :
N Y i /7 |
"r+ Nhum + sing + pres + M+ Vir+ T+ Nm+ eing + in the kitchen

G+ Mchaer‘*éng + pz}e +mjm+§qe+\émad5mg+ in bne

-

s ¥+ will
\{ \ \ Z kit chen
/
Mother will make the silad _i_i_l__tllg_lg&_gl_l_gg.

,’ #9. fireen must be your color. {Your may be regarded as a determiner at

this point, )

Sentence

'\\
N/ //_,\VK\
/ \ . Lux~ Verb
| i
P

T ¢+ N+ ¥ e
; Pres T N
Nm %
sing Ne¢
1 i sing

/ "o
T 4 Np + ping + prl'es + M o+ B{;*T*N&:}*siﬂg
+ GreeQ sing + \)res + musgt ¢ be + your + color + ging

- {
Graen raust bL your color,
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Exercise 2: Page 2

Verb Kind Loc
1, is Be at home
2. sounds - Vink here
3 have Vmid . in Kansas
4, found Vtr at the pool
Do expioded Vi in the closet
6, was sleeping Vin on the floor
To gnawed Vir outside
i/ costs Vmid at Sears
0. seemed Vink at school
10, is Be in his building

Exercise 3: Page 3 :
You will want to remind your students that besides Log there are

other kinds of adverhs,
Man L.oc

1, Joan playaed ball h_ggn_gy in the yard,
2. Sh iive in th H%c
. e will live in the apartment,
3. Th .
. e mooR is rising there
Loc

4, The packages arrived here

Mazn ¢
5. The poodle zat perkily outside,
n Loc

6, The fog settled ominously in the haxrbor,
17, Ha ill shop d o
o rriet will shop downtown,

ﬁc

8, The ssimon slithered upstream,

c
J. The children ran races in the meadow,
Loc

i0, Roosevelt became ill in Florida,

Exercige 4: Page 4

Answers will vary, The following sentences are possgible answers,
(You may wish to have your students check their gentences by writing
the symbol string gsbove each gentence, )

1, 1 baqd hit him sofily,

2 The ice appeared dangerous in the middie,
3, She hed been esleep in ¢class,

4, The faucet in dripping in the bathtub,

5. You had a cold in Chicags,

6. The hoys had been pleying hard in the gymi,
7. A policeman stoppad him on the corper,




#8. He was at the movie,
9. It grew dark in the study,
106, He had stopped the travelers quickly on the road,

ADVERB OF TIME
Page 5

3 1 e Tavmasalaa O v Siphgl. DREY Rpuapey W
By answering the questions here and doing Bxercise 2, students should

v o
see that because the time adverbial may be an cptions! element in any
kernel sentence we need to rewrite our rules to ellow for this, We add
Im to Rule 2 because Verb includes all verbs, thus eliminating the
necessity of placing Tm in any subsequent rules,

Exercise 2: Page 5
L\7i.n Tm

1. The fish were biting yesterday,

Be Tm
2. Fred has been grumpy this morning,

Vir Tm
3. Montmorency mugt have gkippped school lagt week,

—---19

Vir Tm
4. You ghould checi the battery daily,
Vin Tm
5, Mantle will be baiting next,

Vmid Tm
6. Mies Forbush has a headache tonight,

Be Tm
7. The cornflakes have been soggy this winter,

Vink Tm
8, The Pacific Ocean might have locked rough g week ago.

Vir Tm
9, Some girls are washing cars before breakfast,

vin Tm
10, The group will meet tomorrow,

#This i8 an example of Loc which is a Pr, It should provoke
some discussion about the optional nature cf moest Ldverbs of
location, but the necessity of this one,




Exercise 3: Paes+ ing + oYt b T b Nt *Me.-!"T
A e+ ﬁhum 8 past r sing n
N \/ A

He pissed  the c\rsa easﬁy lastyear,
2, #+ N, >ing+ pagt + Vtr':' T + Nin + sizwy/n
Jogeph hx‘.’s work carefilly last year,

3, §+ Npymt sing+ past*}"’* haye + en'ﬁ' Vi, ¥ Man+ ‘I'm
ther would have caf(ed t'rantiLalLy by then,
4. € ¥ Npypn ¥ cing + past + V, + Man + Lgc
Fick ted ¢ tf‘lly m .

5 T+N glnr"' pres + beting + V, + Man + Tm
. in in

The flowers are growmg rapidiy this spring,
6,T+N1+smg+past;lm*L}ac + Tm |
TLe M floated down the river last night,
7 ¢ + Npum + ging + past ‘*/!tr'!'T'* Nij, * ging+ Loc + 'Il‘m
// found  the rxmm tFig Torning.
8, ¢+ N * pur + pres + V. ¥ Loc+ T
Bears sleep in caves in thé winmer.

»
=

T+ N + sz + pres + go +  Loc

’}he hu.itronavt m}m to the noon.

g @* Nhum + sing+ past+ find+ T+ Nin+ sing + Loc
3 e found the %)n

8. T+ Npum + plur + pres + have + eg*/be'l' w::rk*'?an*' Loc
’I‘}me h“%é ha\%/ been working industriously in‘*ﬁé
field,
4, + N + ging+ pres + have+ en+ he + jng + git + Loc + Tm
# % Npum * sing* p ’ f_,. Lp
ed has been sitting at ewricer te

5. T + Nhum + sing + st w et seak+Loc+Tm
\ e /”}u p

The superinzeadem be™ s Bp a our school soon,
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6. T+ Nnon+ping? pasgt+ thrash+ T+ Nm + a{sg+ Man+ Loc

M oaugior  wed  wl '

Ah alligator ghed the water roigily in the Gathtub,
7

.T\éN *sing+m§*ﬂaat'@°l¢oc
The sord ﬂwaeﬂxin € Lrou
P e Allan o adeac: 0 anamamkh ok cue e A P .. L SN
ve - ALl @ > Jeps 8% ¥ &0C T &
‘ ’/ﬂ-‘a
The b};Me \;‘ag’e,fo”ﬁ" e a.l].f;.ye

<

With Rule 2 now recast ag VP —> Aux + Verd (Loc) (Tm) students
shouid understand why they are permiited ¢o include the opticeal elements
of Loc and Tm in kernel gentences, ‘The new Rule {2) allows either Loc
or i, out asseris that when both Tm and Loc adverbials are present
Tm ususily comes last, .

ACTIVE AND STATIC LINKING VERBS

) vy ey Vo ()| L

. e ¢ o - ‘e
\d .

- . .
This is an optionsl unit . Bu shouid decide vihether to use it Qr rot on ths
bases of your class and e ' inate interest in and ability to cope with
very {ine distinetions, For a class of very bright students it offsrs
many opportunitias to discvaz the complexitiee of our lzanguage. )

Exercise 1; Page 7

A, Vink Pr Kind of Pr
1, scems heppy adj
2, smell gond . adj
3. é&preared unconcerned adj
4, will remain the secretary NP
5. must have gone miad adi
6, looked uriclimbable adj
7, should remain by 2hind Loe
8. have been gettin {ry adj

9. tastes ' la adj
10, has become his vocation . NP
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Page 7
Yink which will take the manner advers are;

#4.remain {Most peopie would aceept manner aidverks in this sentence |
-=for cxample, "Miss Fitts remained secretary cheerfully, "
=*  but not in s¢ntence 7, This shovld pr duce gome
interesting discuzsion about other rastrictions on the
Manner adverb, j

¥#5. gone (While go iz not usuaily Vigg it quniifies in this senience

8 hecause it replaces a verb such as become,)

get

Z@: become
Vink which dg not teke the marner adverb quickly are

i, seems 8. looked
2. 8iuell %, remein
S. appeered

Be. gure that your students do understand the difference between a rale

iike this (8. 1) end the onzs that repleced Rule 2, Perheps if you remind
them thet our origingl rules permitied Man cnly with transitive and in-
trenpitive verbs, they will see the necessity for this sub rule which

accounts for the smeall group of linking verbs {hat do accept a manner adverb,

Ezercice 2: Page 8

A:; 1. became = Viac
2. zremained = Vist
S, taste - Vist
4, get « Viac
50 grows bt v‘laﬁ
8, sounds - Vist
7. has appeared « Vist
9., seem~d ~ Vist
10, is going - Viac

B. Because students will find Sentenc=s 7 and 10 very difficult to do you
will probably wish to omit them. Answers will vary, but the following
are possible answers:

Viac
1, Roger became happy.
Viae
2. These pancakes became good,
Viac
3. Horatio grew unconcerned.
Viac
4. Miss Fitts will bec\c\'nvlles the secretary.
t

5. The dog mt‘nreit‘ have looked mad,
¢
6. The slope grew unclirabable.
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3. VI:St

The forests have been looking dry,
9. Viac

This cola becomes flat,

C. 1, VLac...‘jiget, grow, turn, go, become, . . }

4. Vist.y/oppear, ook, seem, remain, siay, sound, teste, feei,
lcok, siaell;, ., . .

THE ADVERB OF DIRECTION

(10,1) Vin Vi
7 vis (Dir}‘}

L} L3

Exercise 1: Page 9.

Thig is a simple review in idemtifying adverbs of location,

[y
.

on the coast

at home

under the eaves

in the pool

in thig cafeteria

on the island

there

here

in the plum tree

10 in the broom: closet

Exercise Ia; Page 9
L, 1, under the béd

¢ & & o o o

WCJ-JODCJ‘&.‘&O)N

2. on the table

3. arourd the flowers
4, by

9, in the yard

6. in Rome

7. onthe frezway

8. in the ballroom

9. on the back porch
10, in the tropics

B, 1. to St, 1vaé
» 1o New York
away

« to the goal poat

h O 0D
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to the next town
into bed

onto the floor
toward the depot
to the top

10, at the beer

OR=IJNOG
e o

The Loc elements in A answer “at what location; ” those in B answer “to or
what location, " toward

Page 10

In helping students understend this distinction, you may need to emphagize
that whute all verbs may take a Loc adverbial only a gci&l clese of in=-
transitive verbs takes the adverba

direction. (Dir). The adverb of direction indicates a wge of dxrection or
position and attaches to verbs of movement.

‘Exercigse 2; Page .10

Because apswers will vary, studelits would probably be interested in seeing
sentences written by others in the class,

Review Exercise: Pages 1011

A, 1, The bandits were wwiding in the gulch,

| Sentence
/
/‘1"\

T  + l}l + N
l erb + Loc (2)

Nint

Nan “/ :

Nh

Vi (10, 1)
; /
Vid¢ Loe
[ \

T = x\nu‘m + plur + e + +
+ + + + + ; + +
Th{: bannvmr p:f\ /} \ 7ait in lt:ca gulch
’ bardits i

The

—1’-—-',-/7 I p— ; —
e, - - - . . >
ar
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L

2. The delegates will be going ¢o the auditoriumi.

enie.ice
/ “—-‘s \ .
NP )W
\ } o | Verb
/ SVVA
T M bée +
T + N+ N° i "
| Pres
Nc!nt i Vim + Agc (10, 1)
Nan
NhuLx
i plur
T + Nhtim + piu, + pst'{es*' M+ b\e'i' + Acc
T;ne + delbgite +}1ur + pr +heti /go + to the auditorium
'ane de;é'-,gates b{e to the auditormm
#3, Charles had the iaeasles last week,
Sentence
A?x/ Nerb + Tm @)
H
A /
Txl Vmid + NP
) Tps N\ o
T }v H j 'lr 5 N
Past ‘
Nent m B\Rlﬂ

Ngn | \
sing
N
o\ |
'/1‘ + Nhum + s!mg + past \med";'l"l"m g +im

+
@ + Cli‘arle}s;zng + past "' Vi @ + measlea*/z + Jast week
le \é/

g tLa measles lustéreek.
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4, The verdict must bave been acceptable,

Sentence

Aux / \ Verb
/ N\
ol N
have + en
~re
% Be + Pr
T N° Z
| \ | i
Nent
N
sing
/ |

T + Nin+# si +pres*1\}1*have+en + Be ¢

. THe+ verdict + sing + p*'es + ;ast + have ’*’ en + pe *+ acceptable

‘ b
.The vefdict ét have been acceptable,

5. The room has remained empty.

Semence
' P ~"::;'“_:;T:VP

/

}x Verb
N\ ‘

ﬁux:l A 9
‘ Tx Visk + Pr (8}
have ¥+ Tan
(8.1)Vist adj

T N N° Tt‘s
Pfea / /
Nent: f
| /

in t
| \n ® . | /
'\l‘ + Nin + sing + pi.Les + have + en + Vist + 4ddi

Thil"' m + fng + pY { ‘*‘/\\a'z«r.. + \en + remain + empty

e 'room has remeined empty.




/ » /u”\ | \?erb
L

Past jt+1
1 o (10, 1).Vi TJ d
N :
Ncnt \
Nhum
' sm ,
i .
T + Nham + sing *+ ‘past + have + en +be *ing+ Vi +Aadj + ly

g + Trilby ?ing + pagt¥have + enthe + 1ng§; ging + be.a.utzful

Trilby had besn gmg beaunfn

7. Farmers will be threshing grain tomorrow.

Sentence

Aur—" Verb + Tm (2)
el \A
1 o
/.«x i+ Vir+ NP.
be
/ ’ T?s ’ ing 'l‘/ li; o
/ l Pres / Nm \
T N §° | sing
Neént ! i
Nan |
Nhu‘m plur \
\

+ Nhum + pkur + pres+ f& + be +in§ + Vr+ "'an‘%“ 81§§+ Tz‘1
o

+ Farkner + ‘lur + pre\\v)ill < ¥ + thresh + §+ grain+ sing + to-
F&rmers \Z L&

MOLrTOW,
éshing in tomorrow.




8. The boys are hiking toward Death Valiey,

Sentence
p—""" . yPp
/
Aux— Verb
\ AT/\ﬁmz
be + ing
Tns l
Vid. + Dir (10, 1)
Pres
P
Nr.i‘n.t
N‘an
Nhum
plur

! Lv |
Tu: b \71ur + prif /"‘/be * ing * hike + toward Death Valley.

¥
e boys are g toward Death Valiey,

T - Nhum+plur + pres + pe "'-'ing + yid + towarfl Death Valle;

#8. Her coat should be hanging on the clothes line. #{Students mzy treat
her as a determiner at this level,)

Sentence
/ n\
NP — VP

N\
Aux A V!
1 rx2
‘ o 'rn'a/ \ he + ing /"

T N N
! . Past
, c‘nt |
Nin ,
sipg '

1T‘*'\Nin'¥“si'ng+_pa:3t +”M"‘be+ing+ vi + c

L W \ L \ \
Iijx""' ci)at + ging + past + ghall + ée + ing *+ hang + on the ciothes line,
er at Lo :i'\ould be hanging  on the clothes line,
e e e e s T T R L T T T T T T T R T R
vmv::i O 1?‘ Y A S N A S S I S AT A A S
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10. Shirley might have zlanced through the window.,

Sentence
f\P /‘JH*W>P\

\ Am; Varh
ux \
hZ 1 sz iidy + Dir {10, 1)
have + en
T N N°
| \ Past
NcTt
Nar
Nh
siYg
'f"" Nhizm‘f'smg'l' st + 4 + have *+ en + Vig +
%+ Shirlgy‘l' si ast )\gy + havet en /ance + throu h the window,
\
S irley «ht ced through the window,

=. Students will find challenges in Sentences 1 and C, which are actually
transformationz because ele:aents are not in nor:ial word order. You
might ask your students to reorder the sentences, according to the normal
order set forth in their rules, before dzagramnmn’ them. Or you may
prefer to give your class the reordered sente.ices if you include them in
the asgignment,

Because Dir is generated with the verb as part of the
subelass Cf transitive verbs it appears ' in the kernel .
immediately following the verb, Rut normally we move it
out beyond the manner adverb,

See following page.




#i. The sun was ginking slowly into the river. (Transform)
The sun was sinking into the river slowly, (Xernel)

_Sentence
ﬁ ;\P / \Vn
' \ y.) Verb
o

Vin ¢ Man (10)
be¥ing . . Yid+ Di'z"\lo.lb

[\ .
T N No Tast i // 8d] + }y
|
Nent \ L /
N‘ -
| e /

T *+ Nin+ s + past * pe + ing + Vid. +
N AL /in/" /

ir + adj * ly
The+ sun+ ging + past ?e g + sink * into she river+

R o
M into the river slowly.

The sun 74s
2. George has been biting his nails lately,

Sentence
NP // TT—— P

Tns
f

Aux Verb+ Tm (2)
N
Az Anx
TT 1 ‘ /’x K i +/ li
/ -ﬁns have"'Tx be + ir’ng /T 1;1 N°
;F N° “hes / Ncntl
TX i plwxr
Nent

] Nin
Na‘n . /

T *Nh;um + sing + pres ?Ave"' en+ be'y.ng"' Vir + T+ Nin+ lur':/‘l’m

/

¢ + George + ai!xg'l' preg + have ¥ 61\4/})84 + bite/‘:l?s/* naii,"' phu"!'lfg ely.
G}rge/ egé bkn k:;\mé nalla/latelﬁ:.

#(This ie a transformed sentence since Man has‘;to ba moved inside Dir,
5 The problem would be solved if "into the river" were a Loc. )

4 ” = . -..»—--«.-z\‘)—c_,..-._-.—?‘_ 5 o
. N - - . 3 . . N N . R N BN - w R N
K f;} s - P o o ‘:\p " S N P-4 , B N a . R N

. . o P . o




3. The lady must have had 2 headache,

:/ :\‘. Auye -*”"’"/ Wash
N !
Aux‘l/ Aux, ’
\ T/ ‘\1‘5- ‘ /
rs have + en '
\ Pres | Vmid + ﬁl{
\ \ | N N°
T N ‘ I
/ Nent \
Nent
/ / Nin
Nan \ , s/ing
&i ; '
/ Nhum i.ng \ / /
T + Nhtm+ sing + pres+ 14+ have+ Tm- Vrnid f/ + Nin+ sixtg

&

L\m* la.éy'i' ing+ prds 3'7nst+ have‘l' en‘*'/lave"' a * headache + g

; \ L heL che, |

'I‘he: ﬁdy must bkave

4, Storms could be causing the interference,

Verb
Ux2

+ ing
| New | / e+ NE )
) A
/ / /" ging

#‘* Nin + pur*'past'é'}‘/z* e+}ng+ Vtr + + Nm + egin
§ + Storm \?nr + past n+ l}e + cause + the + interference + ging
Sto¥Yms co be ca

th Meme.

]
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5. vater had heen ¢rickling into the basement,

Sentence
I/l \y .A..“‘? YeIg
\ Au,x1 Apxz
; / Vld + DRip
Tns
/ havet en bet ing

Phst

Nl:n Lﬂ

‘ zsng * p}st‘*'have"'en*'be‘ﬁ' ing + Vid + Dir

/

\ \ \
9/* fater + sing + pagt + have + en + het }ng*tnckla* into the

N sement
\ / \\\ / \ / \ \ f ,ba
Weler hkad been tricilding into the basement.

-

8. The airpluna bounced on the ruaway.

Sente*xce

-——-"‘"’/

NP“"""

Ay Verb + e {2}

Past

\
2\
r
.
1 e

ing
+ Nin + gi + past ._‘5' Loc
The\"' sirplane + + past + bounce + on the rurvay
Ta aismla

sac  airplane bounced on the runway.
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7. Her smile will brighten the scene,

Sentence

T + Nin+ elng + pres + M + tr+ T + Nip + sing

\ | t}] \
Hs.\a‘r + smile yk.ng + pres + will A brii;men* he + scen{a +/sing
Her n\;nila mll brighten tLe scene.
#3. The kitchen has become warm gradually, (Transform)
The kitchen has hecomie graduaily warm. (Xernel)
Senten
/ \
\ierb
Aux ux
|1 g 2 Viak + m is)
Tns IJ
/ haveten (8,1)V.lde+ Man

/ . P (11)
F N° I {12) a j+ dj
% /
J 83‘1g /
in
e aﬁ’

"’*Nin*' sing*pres* ve + n‘°’ Vlwac"'

e-l- dtvng-b pvﬁ + a + become+ gra + + w7
kitchen e my warm,

#(Meny students will probably find this aegtence difficult. It is & txansfor-

mation, since Man i3 generated beiors Dr.)
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9. The lecture must have seemed long,
N \\,:.:JI$
e

A/

/ P rb
Aux \Aux
/N 2
, Tns L have + en
. L Vihk + Pr
/ Pres o ' ‘
T N° (C. 1) Vit
‘ | dj (11)
Nert .
NJ{: / .
smg
\ | * !

T + Nin+%ging ¥ pres *

|

!

TI*? have + ¢

+ Vl.at + adj

The + lectgre'i'p\lng'* ples* must + héve'l' en, +
%he N\~ N \

lecture have
10. Bob tore his shirt at camp yesterday.

Sentence

Arxl
Tns
¥ N |
. Past
Nent
Nan |
an
| sing /
Nh
T + Nhm + 4 + gt + t +
o 7
§+ Bob + sing + pags + tear l}is
\. / &\ 0“’ i
\ ¢ A |
Bob tote his

seemed

/ \.
\ Arf/ Virb + Lc?c"' Tm (2
L |

)M
*'\szmg* ' Lige » T
+ ghirt gmg*at camn /

8 fi‘i""ﬁ;

loné.

\ P jye?terc!a.y
ciafrt at camp yesterday.

o'
e
'y
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FROM PHRASE STRUCTURE TO TRANSFORMATION

This material eases students into the study of transformations by having
them reject as kernels all sentences which contain elements not explained
by phrase structure rules which we have developed go far., Of course,
this should not imply that nothing more can be added to the rules, They
will be expanded greatly in iater years as more basic elements of the
kernel are identified, However, based on the elements the students now

an e aaMlNad a Yo caen o2 ML
recogize thaw ars gslkiad 4o dugide what can oot be called & kerncl, Thls

in turn leads them to look at 2 double-base transformation, the result of
combining two or more kernel gentences, Then a simple review of two

reordering processes used earlier in developing the phrase structure
rules introduces the single~base transformation,

Exercise 1: Page 14
A, Students should omit Sentence { in this assignment. (It contains

an element which will come in jater through (10, 2), but it is stili

a kernel gentence,) In order to write the terminal strings it might
be a good idea to have your students diagram as many sentences as
they are able to, Sentences 1 and 10 are not kernels, Attempts to
diagram them should prove this to students,

1, Question transformation,
3, Omit kernel from consideration,
10, Passive transformation,

2. The potatoes were becoming mushy.

T )
\
P‘ \W

:ﬁ:{/‘\b""z m/\ Pr (8)

cn Vige (8.1)
|  plar
Nin
T+N£n+ +paet+be+ix}g + c + a?‘j
“E‘T + e; ‘:y\'hr +pa{t +bl -Hn' + become + mushy,
he potatoes wers becoming mushy.

#3, AlthSugh students cannct dlagram this, it is not a transformation,
Rather ik contains an element, the indirest object, which comes in
through (10,2) (to be introduced fater,)

%?h&:
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[

¢, The boys were gitting on the floor.

L

/——/—Seme&‘ce
‘}K />
/ _g \\Verb + Laoc (2}
.A
vi {10.1)
0o TI'IB )
T f: N lm be + ing
| - P |
Necnt j[
Nan
plur
N

T 4 Nhim + plur + past + be + ing + Vi + Loc

|

e * i’ng + sit + on the floor

The + boy + plur *+ pa.ct\:
}he’ \bdyZ were si\émg on the floor.

5. The sale will end on Saturday.
Sentence

P

//
..-——““/ \ :
/7 \ Atlzx Verb + Tm(2)

N l“’ }“Q (10, I)Ji

Nc'nt T?a I /
| - sing Pres
. T

T + Nm*ging + Pres +/M

T§1e + aa.{ fmg preé v will 4 enc{ v on turday

} /
he gale end on Sg

Note: The exercise cails for reducing te the terminal symbels, However,
we have diagrammed the sentencascompleiely for ycu here.
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c. & glass fell to the floor noisily,

Sentoace

. |
1 Vin + Man (10}
; Trs \
N (10. LWVjd: + Dir |
l Past it ly
Nent
| smc
oo o
T + Nin *+ g * p ¥ Vd o+  *oadj v 1y
/ fn a’G\ \
A F glaas + sing ¥+ + fall  + to the floor + noise + 1:
\ .
\. \/ fell to the floor nmz y-.

7. Diane has been upstairs all morning.

Sentence

Aux grb + 7

, & Aux
, /u\:{ \ 2 Be+ Pr
/ Tab it \

T N° have + en
r Fres D% Loc
Nt
o\
l Nhtlm aiulg ‘

T + Noum +sing _"‘pris + have + gn * Pe+ L. + T
g'i' Liane + sging + pres\* have * & +2e + upstgirs + all morning

Bi e has bee upstairs all morning.

- - - i L s ——— i o et e
- - e . N 1 s
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v» The people should have inoved to the mountains.

Sentence

/J‘ \

. | “‘/>VP\
Aux~ Verb

Past \ ' ";,. Vig +
\. : \
ur A A /
Vol
| \ \

T + Nhum + p]lur + past + MI + hav?"l' el + Vid + Du'
/ i
f*peovplur+ past + shali* kmve+ en
opl

™\
The p

}ove + to the mountams

e sho(iid ha{ve moved to the mountains.

9. A boat sailed softly on the lake.

Sentence
\),erb + Loc (2)

Aux
| |
o A‘“ﬁl . ;
T N j (10) Vin + Man
f e |
Ncpt | ; (10.1) V3 |
r sing Past adj + 2
‘I{ + Nin + sjing + p t + V-i + a; v ly * Ii.oc
A+ bo‘at ing + pa‘st + ‘ + soft + on the lak
\A }oat xled/ oilﬂ/on the lake.
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‘3. Sentences 4, 6, 7, 9, and 10 are transforications. As you will notice,
several of che transior:.:s are derived fro..: lzernel sentences in the
exercises.,

<, Passive
6. Ouestion
7. Double bage transiormation which includes the embedded apposztwe

Kidnapped,
9. Question
10. Question

1, Snow has been falling,

Sentence

At,::xi T{
Tns

N have+ en be+ ing
l) ‘ Pris Vi (10.1)
ng

|

NL"‘ siL.g + pres+h%ve+en+be+ing + Vi

+
' e + pik
$ + Snow *ang‘i'ps*'h'ave"' nt + ing + £

S\;a\ox;/ \/s ’o\een f&i{gg

2. /e have been having an argument.

P/-sentenge. d

// \J\ o Aux/ \ler.b

T N
Y Aw./ kux ‘
NTnt “ Vmid + NP
- pur /7
Nan "‘rL.- ve'f' F0 be‘l'mg TN N°
N y '
[ / / / N 1\ng
8
I . Ain/
T + Nhum + glar + res "' +be+' g+ Vmid + T + Nin+ sing
%"' 1 i plur/i pres + have v e+ /+i */xav}en‘ﬁ' an* argument "'\ng
N\ s

Ve have been having argument
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3. The salmon swallowed the minnow.

’,__ggntence

Ni VP
// \ Aux/ \’?l‘b
/ / y v ,
/ \
T N N 1 Vir + M
t Tns ' o
Nent i T
| Past !
Nan [ Ncnﬁ
| sinz ’ Nj sing
Nnon
Nr.oza
T + Noon + sging + p + Vir + T + Nnon + seing
| OO TR

The + szlmon+t s

}he s\ahén

5. Ifary opened the envelope excitedly.

swallovwed

past + swallow + the + mu\mmz1 + ging

the

mi

\'j + NMan (9)

vP
\
/ Al
T N N 1
’ ‘ n;S :
Kqnt } (10) Vir + NP |
- Past
Jan
siag
St \

g ope
N4

opened

envé{;;e

14\ adj + 1y
e
Nin

/ + ging + adj+ ly

Nhum + sing /th Vir + T' + /)
3+ 'i‘-:i.arg: sing <+ pa m ng ‘* exrtted + 1/

excitedly.

%‘

(‘”‘* et v e - - - . i . R P e
- : i< .




-~

-y g e
8. The captain will give the command,

Sentence

Nan

li . /
T + Wn&m-i-sing + prés + M + v’tr o +

'I‘he +ca§tam+s;ng “+ pris\ + ;)m + gvé + e + o mand-bs\*_.}
The ca wiﬁ g(v/e the cc»mmﬁf(

SINGLE=-BASE TRANSFORMATIONS

THE PASSIVE TRANSFORMATION

In the passive transformation, 23 it is framed in the student version, tiere
is a change in the order of the itezns and the addition of new items, These
new items have thelr origin in the transformation itself,

The passive transformation can k2 described by the iollowing vules

Tpase NP! +Aux + Vi + NP2 =—
NP? + Aux + be + en + Vyp + by + 0P}

The be_+_en after the Aux and the by before NP! are added by the trans-
formation, e, g

(1) The dog bit the boy

(2) The boy wag bittea by the dogo
The be which combines with the past icnse to produce was in (2) i added
by the transformation, So also are the en of pitten, and b TZ
Ncte ghat the Aux of both (1) and (2) ig the past tense, (1) could be repre=
sented 78

The dog + past + bite + the boy
while (2) could be represented as

The boy + past +be + ea + bite + by the dog
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This i8 another instance of the generalization that tense always atteches
to the first element of the ¥P,

Motice thai the transformational arrow ( —— ) is different from the
phrage structure arrow { - ); they are different because they
imply different processes of cher ~9. The latter is understood to mean
'is rewritten as’ and operates on only one term of a string at s time,
‘The transformational arrovs meens 'becomes through siructaral change';
it does not operate on individual terms of the string but on the whole
etring and its associated tree graph or branching diagram, turning it
into a new {transformed) etring and branching Hlagram,

If a student should inquire about such structures as (3) The boy was
bitten, it should be explained thgt & transformation can be applied
optionally to delete the + NP~ phrase from passive transforms,
(3) could thus be derived irom (2},

Page 18

Only (d) can be macde passive, dents ehméld gee that three
cha;;ges ocguer in thies passive; NP* andAy_P zrs reverseddin
position; + en is inserted between Aux and Vir; and .

by ie fuserted before _IS_P?. Sentence 4 cannot be made paseive .
because the verb i8 Vini; Sentence 8 has a Be verb, and #9 contains

2 Vi,

Exercise 1: Page 17-18

A, This exercise Provides an op;?rtunity for students to
transiorm NP* + Vi + NP to the passive, Tha
emphasis here is on the shift in word order and the
insertion of elements rather than on a complete
analyais of a kernel,

= . r——ers oty s on - T e g e e e
Al Tox Provided by ERIC _}ﬂ*’-kwwm;e—ﬂw . e, = e o o e i - ygycr-;\,,w/ G ,..,.:,‘J,' q,,’)\ — ,:.;_.n.‘;;" ‘.):_ o RN y nE m * e N,
" 2 . s are 2 RGN ™ 2, PR . N - . re Y - :
: > 8 o . T N A N R R TR YOI I T SR o o N

> 7 ~ )
——— s o p— W — o - i & e S o e el D et S £ o R —— e et ety P T PP e o ey ind g
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Y* pait * Jimit+ NP2 Kz-* pas{;,be >
1. Fbe limif A the visibility == The vibibility was limifed

+ by Z’Pl
b{ fog.

Npl+ pret+ have+ on°3' clgpr+ !\P" NP? + rastt
2. Loggers hid aMfed  thelsnd —— Theland b
+ent bet ent clear® byt np?
\/ . '
bean cleared by loggers.

Nl\’i + pr?s"' M+ ‘acrpt + N‘P2
3. The studentz raust acéept the responsibility —
NP2 + pres+ M+ het en*t accept¥ by + NPl

The responsibility raust be aé:éd by the studems,

wel 4 ¢+ spray+ 2 +

4, Thevwsaves aprayed the highway —= The highway

@ . h-u? v‘? gpray‘f hy' 3 nm?z
pa%‘t g\/ ! g

sprayed by the waves,

NP1 + pagtt K¢ or + NP2
5, ‘I‘h@ theatre m refund the lnaney;_-_—.—}
<ﬂ ¥ pm% YV+ be+ en+t refund+ /y+ Np?

The micaey be r ed by the theatre.

NPl + prest M+ have+ ent eat+ Nr‘
5 Adem  mie e oufe
o Adem  must hs eaten sn apple —=




B
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wp? + pres/l + have + en‘*/e'@' en‘%’ t+ by 7P2

/
An apple ; have eaten by Adam,
Np! + post+ digmiss+ NP2 NP +

1. The\gudge di\sxﬁ‘;ed the/c&f:se ===  The case

paeye* en¥ dismiasst by + nel

was d}smissed by the§udge
NPl + pax'*‘ follow + NP2 NP2 ¢ past +/pa
8. Chj}dren £o ow(d the piper =, The biper wegn

+ en + follow + by + npl
roiisred b\y chil

N 31 + pres + 1i + freeze * I\TT?‘ JP2 +
9. Thecook  will fre‘bze the pies -——==) The pies
pre M+ be'l' en 7333@ + by + ’7?2
‘:sﬂl ‘?je }rozen E!y the cook,

I\IP1 * Faiﬁ)“" h&va"’ es e NFZ
10, K:\rsh n some pictures —=

NP“ + pagt+ IM+ hazve? en /oe* en+t take‘f* 17y NB2

/

Some pictures hale b\é en by Karsh.

Several sentences in this part of the exercise will be too difficult

for eny but the most perceptive student. A more complete statement
of the gaasive ruie would need to sllow for the sptional elements of
Man b and T, which are included in Santences 2, 4, 5, G, 7,

E*@ ﬂ}__@_tu@houlda $ Sort 3 baz e%
an indirect objsct, wWhich W e accounted for later in

Rule 10.29. £ wa let elements thot ars allowed in phrasge
structure ruies to be placew betwesn the subject and laxical verb,

oy G £ v
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and Y equal the edverbials permitted in post object position { Man,
Loc, Tm), a more adequate rule would show

NP1+ X+ Vyp+ NP2+ Y _NP®+ X+ be+ ent V. + by+
NPl+ ¥

Mhia misla thanm dansanilhan whnd ko nncws 4n dha PAllmrinsg
o AN & VAT VALVIS VMU Wwh aWOW YWarse .“rp‘.w W Waoe o TEAWIY @48 é

= sirings of the eame general rature:
. The+ man+ ﬂing + past /bave + e\ mplete + the+ tagk+

atenivare and ali
1 ~4 I 3 \% ”m

\
‘I\'he mean comp.qted \task
+ at+ hop:e =—==> The+ ;ag\ §inb past ¥ yve"' en\":lbe
- \k
at home T}se taélk hﬂ.{d " been
B + en+ completc+ by+ the+ mar+t ging+ at+ home
= N\ / b? N/ \ t
s completed b{‘, the man gt home

If you do assign the sentences with optional elements get studenta to
see that any change in the pessive transformation of the crder of Man,
Loc, Tm a8 set up in the phrage structure rules would actualiy require
a Becoad tranaformation, which is not asked for at this time,

1, NP\1 + pres+ Ji+ drink+ NP2 Np?

The winners will dri;.!!r. the éemonade e

+ pres+, M+ be+ en }r t?"" Np!
by

;x(/ | the \\:inners

wi be

Tre lemsanade

;
; N‘i’l + past+ drive+ rfpz + Loc
2, MNother drove the car through the garage —

NTZ* pest + be+ ent drive + by"' NpP! + Lec
Ve ner
The ear 8 driven by m\other through the garage,

NPl + past+ be+ ing+ tell+ NP2

3. Gregou Peck was te the story =

\° paat+ be * h?/e"' en Kel” by * N|P1
) The & by Gregory Peck.




3?1 + pres+ AL+ do+ Niz * aaj-s- 1y p° +

job quiedy ===~ The job

J

pregl/M + jee + en 7y N‘T + ad{"' ¥

don

[\
[ ]

e can do the

NPl + pagt+ ride+ Nipz + leg + Tm
5. Thegirl rode a stallion in " ine race yesterday =D
pas\t*‘ et en + pidet by+ NP + Yoc+ Tm

A on was \d/ ﬁ‘y the \girl in'%ﬁiz‘l?ﬁ'e yest\erdéy

Ne! 4 pres+ know+ NP? + Tian NP
3. An astronomer hﬁg stars \>ell ::::.? Stars
+ pres+ be et know + by+ npl + Man
\ ~ N/

gre known by _an astronomer well,
( Students will not e that an additional transformation is nesded here

' to place Man (well) before by, )

2

m:‘l + past + /spm + NPZ 4 c NP“ +
Mie | Nt hoys nnd e 5
1. Casgsie spilled the syrup on the floor —— The syrup

p&g&‘i‘ e+ en\+ spill + by + WPl + Loe
\
was spilled l:gy Cassie on the fioor,

8. Students should omit this sentenca because it contains tma NPZ'S
. ¢. .. which will be accounted for later in .
(10. 2).
2

NPI\"‘ pres*/M"' havet en® cajl + NP
9. The operator must have ceifed the police ==

NP2 + pres + M+ hjva* ent be+ en*‘;all* tiy + NP1
‘I‘he}»alice must have been e\;.ned by the operator




3D

WP! + pres +. M + ace® NP\?‘ + Tm
10, M&ions w\(’ sée the fair tlks year —

2 + preg® i+ t]a'%' en'%';ee'%' by ¥ erl + .Tm

AV l

the fair will be goen by millions this year.

|
{
I
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QUESTION TRANSFORMATIONS

The next single~base transformation which is taken up this year
is the question transformation, It i5 at once more complicated than the
passive transformation, but alsc more interesting, At the outset there
appear to be many kinds of questions, but examination shows that they
are all basically related, and after you have led your students to see

the bagic process, it shonld he thia relatednesg that vou emphagize,
Question transformations present a beautiful example of how economy
and simplicity can reveal some general truths about the seeming complex~

"ities of our larniguage-=about the order that exists in it,

The firat kind of question studied is the yes=or-no question which
is the underl,ing question for all the others, To begin with you can see
that kernels with Be ac their main verb and with no auxiliary other than
tense are converted to yesw=or=no questions by a process which can be
symbolized as follows;

NP‘!‘tnS""Beooc’:%mS“'Be*'NPooo

where , , , indicates an irrelevant context, (Only the pari symbolized
is important to this transformation, in other words.,) Thus,
He was here. === Was he here? .

But, as you can see, the rule can also apply without revision to
kerneis with be as an auxiliary; (Mother was serving waffles, =
Was Mother serving waifics ?) because what comes after be is not
involved ir the transformation, Notice hepre that not all of the be_+ ing
auxiliary is shifted to the initial position in the sentence, The ing

stays put,
" The rule does not account for such pairs of related sentences as
ese:
He hes gone : Has he gone?
He can go : Can he go?

where Aux, consists of have + en on the one hand and M on the other,
The rule will have to be changed to:

NP + tns + l;faz tns + tlg + NP
ve... ¢ o 9
beJ :% bevej

This very general rule known g8 'Q) does not accoumnt for one of the
moset common pairs of related sentences:

The cat drinks milk : Does the cat drink milk?

If we apply the above rulz io oontences like "The cat drinks miik"
where the VP consists of tna + Vrb with no Auxg, we get:

NP+tns+Vrb.:.—:§&ns+NP+Vrb.

S -, . . - b wat} -
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But this leaves tnsg without a verb to attach itself to, In such situations
tho grammar of English demands the insertion of do as a dummy to carry
ins, This is known as the do~support transformaticn, We will not
formulate the actual iransformation now, because we will find other cases
where it will be necessary to add do to produce grammatical English
gentences, Therefore we will wait until later to write the rule, At

this point it will only be noted,

Questions like the follewing:

What has the mailman brought?
When are you going?
How did the child behave?

Where has the boy gone?

can all be shown {0 be derived from the yes=-or-no t{ransformation (Tq).
When we take a sentence like '
The mailman has brought the package,

and apply T we get
Has the mailman brought the package?

‘Then by changing the object NP (package) tc whom or what (whom if the
NP is Ny, .. What if it is not) we get

*Has tie mailman brought what?

This process is called the wh-attachment transformation. It is symbolized
by adding wh to the element being questioned, Thus, in the example
above wh is added to the object NP,

Tne + have + NP! + en + bring + wh-NP’2
*Has the mailman %ught tht?

This is, of course, ungrammatical, and the wh=NP% must be shifted”
';g the front of the sentence in a transformation known as Twh® This
VS uss

wh--NP2 + tns + have + NP! + en + bring

N 7
What has the mailman brought?

The other questions are derived in exactly the same way: applying the
yeg-or-no’ transformation {Tg), attaching wh, bringing the wh 2lement
to the front of the sentence atring (Ty). Wh + anything is shifted
to the first position in its string. Wh + Man = How.
Wh + Loc =—=) Where, Wh + Tm —=._ .Wher
Thus:
T

You are going togormw =)
Tm
Are you going tomokrrow? —==)
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wh-Tm
¥ Are you going when? ===
wlmi
When are you going?

The subject questions needs a little furthse discussion, On the
surface it looks as if it would be simpler to formulate a special rule

for the subject question, (The mailman has brought the package, =—>Who
' 1 ' -2 L.

has brought the packsge?) in which the subject i simply replaced by

Who or What, But this is a process where simplicity resembles complexity.

One should perhaps remember the story 2f the boy who was relieved

of the notion that a straight path is always the shortest way home. To

formulate this different rule for the subject question would remove subject

questions from the class of reiated questions and make them som:how

different, when we intuitively feel that they are not difierent from other

questions but very closely related o them, And this relatedness ozn

be demonstrated by applying the rules used to formulate the ¢thei- questions,
Subject questions first go through T ., just as all other questions do,

To prevent that happening would require%.n extra rule in the gra:nmar,

However, when a sentence has gone through T, it no longer has its

subject in the place a2 questioned subject should be,

He should do it, == Should he do it?

By wh-attachment Should he do it? becomes Should wh=he do ¢?

But there is no *Should who do it? So the completely general rule Ty,
applies to put wh-he at the beginning of the sentence,

Who should do it?

All wh questions then, subject questions included, have the same
"history" of derivation: first. T, , then wh=attachment, then recrdering
by Twhe TO make an exception gésed on the superficial similarity of
word order between declaratives and subject questions would be to add
unnecessary extra rules tc the grammar,

Whether you wish to take up the subject question with your class
at this point will depend on the general ability of the class, Itis a
good place to make an important point about the grammar--how general
rules can cover a good many different sorts of sentences==anu also to
illustrate how all questions are related, The question transformation
will be treated again, at a more complex level, in later years,




43~

Ezercise 1: Page 19

« Has the child broken the wagon?
Vi 28 mother gerving waffles?
V/as the baby hapny ?

")’i'ﬂ dhia _._cmssaenn eerelld dle man s D
+Q Vadid WAL AAVUWGL D Wil VI L w §

5. Can you determine the circumference?
Had Marcia lost the cake?

Have the men radioed an S.0.S, ?
Could Red taste the poison? ;
Iight that be the solution? 5
« Should the president have named the commzttee? i

QO N m
e o

\

b
¥ oPIIP

sxercise 2: Page .21

#2. NP *past‘*’be‘l'i.,g'i'eez'v + NP=

Mot%xer \W\éé/ se\r\'@ wa'ffles => ,
past\+ /be + I‘\IP + m%erve + 11? | .,;,
Was Mother sefvinz waffles ? -

3. NP + past+ be + adj=3
The b“by \%/ hap‘py-—-b -
past + be + NP + adj *;‘;'
\4 the Jaby hap}:y? | ;

4, NEF + pres+ M + wilt + Loc == )
The glfbwezrs \m{ wlﬂt the‘re =
pres ¥+ M * NP 4+ wilt + Loc |

%’ﬂi the ﬁLwers w!ilt the're?

5. NP + pres + M + determine + NP = v
Y'ou cdn detezimine the (:‘ircumference = a8

pres + M 1\§P + deterimine + NP
| =

Can you deterw "2e the circumfer.nce?

#Studer’s may use vither Verb or the lexical verb in writing strings for L
auestion transformations, -
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6. NP + psst + have + en + lose + NP ==

N N\ |

Marcia lost the cake =3
past ¥ have + NP <+ en+ lgge * NP
Had Marcia los the cake?

7. N‘P + pre< }ave en « radio + NP ==}
The men have }{oid an S ‘0, 8. =3
pres + have + NP + en + radio + NP

N\ \ f
Have tie men radiced anS.0.S. ?

3 NP + past+ M + taste + NP ma)

|
'R‘ed Eiﬁ ta,ste the poison ==

/M NP + tagte ¥ NiP

l
Could taste the poison?
[a] AT T o

Ve N v past v i 4+ be + NP::';..-‘%

Th!a.t M b‘e %hel sclution =
past + M ¢ NF + be + NP
M{ht " th!at b'e the éelutian?
i, NP + past + M + have + ent mame + NP =
The gpres:ide:x'ft : s\h(u{d ha‘ve Md the committee =)
past + + NP + have ¥+ en + ngm~ + NP
Should the president have named | the committee?

%
Y
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i
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Page 22:
The strings of symbols for 2 e~d 3 would look like this:

2+ Sentence -—-~.> NP + VP
i‘ VP-«——}tense +h7ve+ en + verh + Py
NE 4+ (px"éa + navel+ en + + Py ;

T~
‘The\captam / noen mis aken

pres + nave] + NP +en + Be + Pr
I}a,/s/ the c{pxain \gen mist/aken?
3. Sentence — NP + \;P
VP —>tanse + Verb +Pr
NP «+ @‘%‘EE’T/ + Py
’I‘he\éapta‘h was at 334_1;:@:—:;%
/past+ Bef + NP + P
Wes the captain at home?

Page 23=25,
it should be pointed out that there are actually 2 steps in forming the
yes=or-no question in cases where do must be added, Firat tengse moves
to the front of the sentence, Then do is added, The %‘vo steps are
telescoped at this point for the student, Latc: the sequeace will be made
more explicit,

#Exerciae 3: Page 24=25
A1, NP NP + pasVund + NP
The hunter ded the cow _
L
d the huinter w nd the cow?
2, NP ¢ pr 8 + rder /N’P

The lakes bor\ er the park
pres + do + + border + NP
R I f
Do the lakes border the park?

#Cince we are primarily inieresied in the shift which takes place in the
question transforination it is not necessary to make detalied symbol strings,
The NP's need nct he broken down for instance. Imstead of verb .aou

mignt have your students give the lexical verb so that the special case

for the verb he will be clear,
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.-.‘ S kl? + pr%i :f}’eem ¥ "a?j ==

F Jogie seemns friguteéned ==

“ pres ¥+ do + NP < geern +  adj

é? ;{9 J o;sie se%em t!rightened?

s 4, NP + pres + coutain + NP =

5 The‘vase cont¥ins buttermilk. =)
preg + + N? + contain + NP

Does : 1;1:4el vase fzo‘ntai.n but!ermilk?

: 5 NP + past + pass + NP=> pagt+dot NP + pass + NP‘
Yéu ;)Jé’sed the tgest = id yclm pas!s the tést?

8. NP % pres ¥ like + NP

™ TN e

Cats e popcorn ==
* pz'ee ;d@ + NgP + hjke + ?IP
g Do cats like popcorn?
‘. (R NP + past + swallow + NF ==
Freddie swallowed the ’gum ==
? past + }o + I;TP + swallow + N‘P
g Did Freddis swallow the gum?
» 8. NP + pres + look + adi s
3 The gaogeberries ﬁ{ ripé ==y
pre\s }do + IIIP + look t+ adj
D3 the gooseberries look ripe?
2,1, NP + past + gtart + NP ==
Light‘ening Bt} ed the éire =

pasVa + NF ¢ at’art + I’VP
3G lightr..ag start  the fire?

I o 1\}4..1 b e s SRk By e | —
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2. NP + past + be + NP
A atknpede wa/s the r&zlt =1
past + be + NP + NP
N / l
Was a stampede the result?

3. + preg + bhave + NP
| N | =y
The puppets have strings
pres <+ do + + have + 1717

the puppets have s8trings?

4, NP + pres + have + en < sgee+ NP

The’y e/ the Ptotomac
pres + have + N’§ + en + se + NP
N~ \,/ \

Have they geen the Potomac?
iR N{’ + pas{/-&/ gend + 1\?’ + adj + ly
Noah gent a dove hopefuily =)

past + do + NP + gend + NP <+ adji +
N~ / / /
Did Noah send a dove hopefully?
6. NP\ + preg_ + bf;come + 763
Thie ?roating b-.comes thick

pres + 4o + NF + become + adj

|
Does this frosting ‘bec(lwme ck?
7. NP + pres + M + suspect + + Tm
% T
The detective will suspect the heio now

;;rea\*;% + NP + suspect + NP + Tm
Wizl the delective suspect the hero now?
8, NP \\-# nieg + crumble + adj + ly
el -_:—__—?
The cookie cFumbles easily
pres + + NP + crurf:ble + ad{ + ly
/

Does the coolde crumble easily?

Review Exercise: e 48
el g e+
The'‘boys ke




VZ; h ) -48. . l
N & ]

past_+ b3 + NF + ing + frade + N®F "
g Werc the ‘}x,y:s t¥ading béck»z? .
ﬁ 2, NP + @sf deliver + NP ==

,: Suéan delivers tae pe!per ==

; pres ¥ doj + NP + deliver + NP

;' Does Su!san de;.iver the paper?

43
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B 3. N’P + [pres_* have| + en ¥ be ¥ I.ofj'/ring == ;r
s . ‘\?}'
C The phone 8 M ringing =)

{ﬁreg + havel+ NP + en ’bf + ina Ping J

> Has the bhone been N
4, NP iE /M + have + en + /be + uoc"é .

! N\
— The milkman could zhve been here _ —
4 st + | + NP + have * en*+ be + Loc
g N7 \ \ N/ / -
g Could the milkman have been bere? o

(\\u
&

NP  + |pres\+ cause + NP =9
\ \ .~ |

Tclegrams cause excitement = -
, [pre8 ¥ doj + NP + cau\se + 1\‘1P .
‘g 0 tele‘grams cause excitement? N ..

6, N,P + prca;ch + NP + adj * ly ==
A rider approached the cimp Musly‘ =)

- -t
P e AT
:

e N N

Zxr B s U A VO
' a rider gpproach  the camp rcautiously?
.» 7, NP ¥+ [PFER* pesemble + NP =3 f
' This paisting w_’z}én;;blea that 'scene =)
. (Brec¥ @ + NP +  resemble + NP .
H es this éamtmg reelemble that scena? Q
g, NP + E’g:-/—@@ + en * break + NP ==
- Thle dog Rad ;}9411 the feam =3

(it ¥ Tavg *+ NP + ep* break + NP 2
| 7 .

Had the dog breken the lt‘.sah? i
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9. N@\ﬁ + |pres + M| + :‘::ﬁ;gx_:ga + M+ N}P +..§0

You mugt Must . _you go?
10, NP\ + |past| + ?ain + adj
Mr. Jefferson remained | calm :
[past ¥ dd] + NP + remair + adj
T \ -\ )
Did Mr, Jeiferscon remain caim?

b

rcise 5; rages 30-3
A. 1, ‘The rustlers stampeded the cattle ===
Did the rustlers stampede the cattle —
What did the rustlers stampede?

5
o
g
lo
)

2. Mareie was chewing her nails A
Was Marcie chewing her nails —==<3
What was Marcie chewing?
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3. QGeorge Washington had crossed the Delaware —>
Had George V/ashington crossad the Delaware ===
What had George 7ashington crossed?

4, John is quitting the team immediately -—
Is John quitting the team immediately =
What is John quitting immediately?

5, You have a lump on your forehead ——
Have you a lump on your forehesad
What have you on your forehead?

6. The policemen rust have seen the accident ——
Must the policemen have seen the accident —
What must the policemen have seen?

B, 1, The children wrecked the automobile —=
Did the children wreck the automobile —
What did the children wreck?

2. Philip was showing his creation —
Was Philip showing his creation -——
What was Philip showing?

3. A chipmunk had grabbed the potato chip
Had a chipmunk grabbed the potato chip —
What had a chipmunk grabbed?

4, The troubadors played their guitargs —>
Did the troubadors play their guitars ——
What did the troubadors play?

5. You have finished the test on time —
Have you finished the test on time —o
What have you finished on time? .

6. The techrician will kave completed the report tomorrow ————
Will the technician have completed the report tomorrow
What wiil the technicizi have completed tomorrow?




Ezercise 6: Page 33
1. yes-or-no transformation (Tq) #
%d Mrs, Hale dedign the costumes" ——-ﬁ -

Attaching wh
*Did Mrs. Hale design what? ﬁ

Bringing wh to beginning (Typn)
What did Mrs. Hale design?

2. T
'f%d the giris have a dance —=%

Attaching wh
Did the girls have what ——>
T
WBk did the girls have?

T
"S%ould the heroine have married the vitlain? P

wheattachment
*Should the heroine have married whom? —=

Twh
Whom should the heroine bave married?

4. TQ
Did Patrick kiss the Blarney Stone? ——>

wheattachment
*Did Patrick kiss what? —=)

W& did Patrick kiss ?

s Tq
Did the deer nibble the salt? ——=

wh=attachment
¥Did the deer nibble what? ——

TWE
“What did the deer nibble?

E'.

# Allow your students to use 5, instead of writing out the
names of the transformationa u wou like,




6. TQ
Is she reading Robinson Crusoe? ‘
wh-attachment
“i %18 she reading what? ——=
Twn
% What is she reading?
‘3 Ty 0 \
Wiil we watch the broadcast today? —....—:..-ﬁ
wh-attachment
> *Will we watch what today? ==}
?wh
What will we watch voday?
)
N 8. T@
Had Scth eater the evidence? -—)
. wh-attachment
f *Seth had saten what? =
g Twh
What had Seth eaten?

9., T
. Sﬁ%ld they have asked the principal? ===)
;’ | wh~attachment
*Should they have asked whom? ——)

Twh
Whom should they have asked?
100 }:Q“
Did Johnny Appleseed plant the seeds carcfully? ——=)
wheattachment

¥Did Johnny Appleseed plant what carefully? —)

Twh

W ‘hat did Johnny Appleseed plant carefully?
Exercise 7;: Pago 34
A 1, B t b NP2
i 1s . + past + ver +
_ \ / \
The rusiiars stampeded the cattle -_—.%
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Veg-or=no 9
past + }10 + N\P + vexib + N{’
Nd the rustlers  stampede the catile ===)
whe-attachment

Past + do + NP + verb + wheNP°

Tw’
WF’{ENP + past + do + NP + verb

What did the rustlers stampede?

kernel 9
NP + past + be + ing + wverb & NP

\ _~ | —_
Mé.\rcie wE chewirs  her mails =3

¥ ;:8*0r*n0 o
past + be + NP + ing + verb + NP2
~.~
Was Marcie chowing  her nefls ‘=Y

wheattachment 2
past\t?e-l-NP + ing + wverd + wh-NP

- N\
“Was Marcie chewing what? ——)

Twh

|
+DId the rubtlers sta}apede what? ==
2,

Wh + NP? + past + be + NP + ing + verb

N0 \~~

What weas Marcie chewing?
3. Kernel
NP +past\+}ave+en+ve:pb+NP2
N =
George Washington had cx@ed the £e1aware
y&3~or-ng¢ 9
past + have + I)TP + en + werb + 1

J """"ﬁ
Had George Washington crossed the Delaware

wheattachment

past + have <+ NP +oén + verb + wh-NP

N\ o
*Had George Washington Med what?




w5

"’1[ iv,h—f"w ,,':‘ M'\.‘K\‘
s

Twh
Wh+NP2 + past + have + NP + en + verb
\ N '
What George Washington crossed?
; 4, Kernel o
NP + pres + be + ing + r?o* P + 7T
) \ 7 T l’ /-
John is quitting  the team immediately
Yes or no 9
i pres + + NP + ing + verb + NP + Tm
| 18 John quitting the team immediately
wh-attachmént 9
pres +be + I)IP * ing;/verb +wl)-NP -;-vg}m ~
’%‘I\s/ Join quitting what immediately?
Twh
Wh ;-NPZ +pres/-e;be + NP + ing + verb + Tm
L :
What is John quitting immediately?
5. Kernel 9 '
<+ pres + verb + NP + Lo¢
\J/ .........2’
You have e lump on your ferehead ‘
yes=or=nc

preg + do + }\TP *vefb-!-lv'l’z + I.?c

Do you have alump on your forehead i
wh=attachment )
pres + do + NP + verb + N + Loc \
, el \ \ \ =
- *Do yor  have what ORf your orhead?
l Twh
) “Wh -!-\N'F‘2 + pre\s/éo !-NP+verb+u‘)\c
: What you have on your forehead
,’ 8. Xernel | 2
| ) NP + pres + M+ haye +en + verb +
The policemen must hawve

seen the accident
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pres + w + N‘{—: + hav< 7@ + verb + NF .,...._..>

N

Must the,poiicemeq have = geen  the accident

wh-attachment ) E TR
pres + M + N{P + hat{e + en + _werb + wh=NP2
*Must the policemen have seg/ what?
Twh
Wh+N?2+prgs+M+NP+imve+en+'¢er-b
~ N\~ l \e
What must the policemen have seén?
B. 1, Ezrnel e

+ past + verb 4+

A

171“ "_';’f}

.
The children Mked the automobilie

a8 «0r=no ' a
p:as!;-g\v "-e-""E/ o + NP + verb + NP°

‘ {
Did the chiléren wrick the automobile 7
wheattachment )
past + 60 + NP + verb + NP

=

i l /
*Did the children wreck what?

Twh 5
Wh + "+ past + do + + verb
What & the children wreck?
2, Kerpel

TNP  + post + be 4 ing + verb + NPZ
t =,

\ ~ TR [ =
Phil’s W\E’s showing his creetion
Yeg=or-no g
Past + be + NP + ing + verb + NP -
; \ /. T
Was Philip showing  his creation
wh-attachment o
Past + he + NP + ing + verb + wh-NP

*Wag  Philip showing  what?

E

.
1
1
l
-
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Twh
Wk + NP¥ + past + be + NP + ing + verb |
% v el ‘ -
What W Philip showing? -2
3. Kernel
NP+ past + have + en + verh + NP2
AN | { -y
A chipmunk had grabbed  the potato chip -
yes=or=-no : '2
agt + have + NP + en + verb + NP
p 2N
Had a chipmunk grabbed the potato chip
wh-attachment 9
past + have + NP + e¢n + verb + wh-NP
Nt / —
*Had a chipmunk grabbed whit?
Twh
Wh+ NP2 + past +have + NP + en + verb
v L.
Wriat ' Mhe chipénunk graﬁe/d?
4, Kernel
NP + past + verb + /NPZ
. =)
The troubadors pﬁ’yg; theiv guitars
yes=or-no |
past -+ + NP + verb + NP2

~ J / ———5_______
Did the troub/adors .play their guitars

wh-attachment 2
~past + do + 1}4’? + wverb + th-NP
\ d (
*Did the troubadors play what?
Twh
. Wh + NP2 + opast + do + NP + verb
1 " / /
What did the troubadors play?
5 Kernel 9
NP + pres + have + en + verb + NP° + Tm
You have finished the test on time

e o
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yes~gr-nc
past + have + NP + en + verb .+ Np® +7m
N7 / \~ .
Have Yo finished the feat on time,
wh-attachraent
past + have + NP + en + worb + wh=iP + Tm ‘
N\, / N ) =
*Have you finished what ontimer
Twh
Wh + NPZ 4+ pres & have + NP + en + yerb¢jm
' /
What nave you finished on time?

8. Kernel g T
N + pres + M + haye + en + yerb + NP® + Tm
. r.e i ===

The technician will have finighed the regéott tomorrow

Jeg=or=no 9

pres + M+ NP + nave + en erb + NP + Tm
\" d{n | \/} | | ==
Will the techniciar have finisked the report tomocrow

whe=attachment 2
pres + M + NP + haye + en + verb + wheNP® + Tm
; R S =
*Will the technician ha,ve finished wkhat tosmorrow?
Twh
'W5‘+NP‘ + pree + M + NP-i-have-%a 4+ verb + Tm

‘ﬁ

|
leat will the technician have finished tomorrow ?

Exercise 8: ga e 35
The manner adverbials here are -

A, 1, hrriedly B, 1. nciselessly
2. reluctantly 2, efficiently
S, well 3. quickly i
4, carefully 4, generously
8. heavily 5, disgustediy
8. lightly 6, cantiously
7. right 7. craftily
8. cuickly 8. tightly

9, upright 3. ane
10, soxmdly 19. thoughtlesaly




Exorcise 8: Page 35

{In 30me sentences studenis may find that the phrase "in vhat manner"”
produces a more likely question.)

i.How diZ Hortense eat the halibut?

2.
3.

How did the ceptain accept the penalty?
How did the actors perform?

How should students have reviewed?
How did it rain vesterday?

How raust the cake be beaten?

How dees George do everything?

How .4 the stove heat the room?

How did the policemean jerk the intruder?
How had the players been trained?

How did the cat spring onto the table?

How hes the secretary been working?

How does ice melt in the summer?

How have we been rewarded?

How did Otts eye the stew?

How had Gary seized the reins?

Fiow did he insert the key in the lock?

How did Mex clamp the edges together?

How did the lad cross the backyard?

How had the neighbor been playing the radio all right?

Exercise 9: Page 27
{Again students may need to think “in what manrer" to see the how
replacement in Sentence.i and 9.)

%,

&,

3,

Tid the Mbrarian work quiefly ? ==> *Did the librarian work how? ==
How did the Mbrarian work? |

Wili Ciarice construct the dlagram carefully? == ¥Will Clarice
consiruct the diagram how? ===> How will Clarice construct
the diagram?

Has tne gardener pruned ihe roses severely? ~==\ *Has the gardener
pruned the roses how? -..—..:? How has the gardener pruned the
roses?

Does Paul try hard? === ¥Does Paul ¢try how? == How does Paul
try?

Should you speak politely? === *Should you speak hew? =)
How should you speak?

Had Minerve approached the spider cautiousiy? —=) Had Minerva
approached the epider how? === How had Minerva approached
the spider?

Did Linus surrender the blanke® sorrowfully? ===» *Did Limus surren=~
der the blanket how? -.-_-:—.} How did Linus surrender the blanket?
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8. Did iha halloon burst noisily? —==5+*Did the balloon burst hew? >
How did the balloon burst?

8. Was the child neglected carelesaly? === #Was the child neglected

how? == How was the child neglected?

10, Was the rumer gaining steadily? ==y *Was the runner gaining
how? —-__-::q; How was the runner gaining?

Exercise 10; Page 37

1, - NP + past + _werb + Man e
“ g -~ vl | ——ss
The letter arrived . promptly
t+ d + NP + verbh + N
d the letter arrive promptly
past do + NP + verb + wh-Men

[ =

*M the iltter | b.rr\ive how?

Wh + -an-i-pagti'-da-l-NtP-t-ve\rb
How dgd the letter arrive?

3, NP + pres + M + verb + NP? + Man _
\ .~ [ ——
Clarice #ill construct the dagram carefuily
Z
pres + M + NP + verb + NP® + Man
W Clarice construct the diagram carefully
pres + M + NP + verb + NP2 + wh-Man

.--—\

*Will Giariée construct the diagram how?

Wh + Man + pres + M + NP + verb +91=2

/ w}n/ /

How Clarice construct the diagram
3, NP + preg + hgve + e + xb-z»NP2+M7n .
The Ea!‘d&ﬂer | » ed the roses severely 7

prea + have + NP + en + verb + 2 + Man
-~ \ -:.-:-_}7%

the gardener 4 the roges severely
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pres + have + NP + en + verb + NP% & wh-Man

\ S~ s
*Has the gardener pruned the roses how? .

Wh + Man + pres + have + NP + ca + yerb + NP2
\ N [ ' /

How hia - the gardener pruned .the roses?
4, NP + pres + verb + Man |
Paul tries hard

pres + + NP + verb + Mam*’ N
PR =
Dces Paul try hard
pres + do + I*?P + v7rb + ‘wheMan
*Ddes Paul try - how ? “—%
Wh + Man + pres + do + NP + verb
/ N
How does Pau try?
5, NP + past + M + verb + Man
/ T ' =
You should spesk . politely
| ast + M + NP + wverb + Man :
P \ { ':.‘:"'"..:".5
Should you aspeak politely
past + M + NP + verb + wheMan
*Should  you spéak hdes

Wh + Man + past + M + NP + verb

F}ow hosf/ you/ apea\/k?

A

=

6. NF + past + have + en + verb + NP2 & N
N\ N \— ! _—
- Minerva had approached the spider cautiously

2
past + have + NP +-en + verb + NP + Man
:::9

\ \—
Had Minerva approached the gpider cautiously

past-fhave-?-NP-Fen-%'}erb* LI wii-Man

+ -

) < e
*Ha/d - Minerva ap}fﬁached the spider how? >




Gl
Wh+ Man + past + have + NP + en + verb + NP2
How had Mindrva approached the spider?

Te NP+paat+vexeb4~NP2 + Man
Linus surfendered the hianket sorrowfilly

pagt &+ do + NP + verb + NP2 + Man

——
AR B

N \ N
Did Linué surrender - the blanket sorrowfully
past+do+NP4-verb+l\?P2+wh- an
OO T TR TR RS =
*Did Linus surrender the et how?
Wh + Man +pasf+do+np+$erb +}!P2

\ .
How did Linug surrender the blanket?

.8, NP + past + verb + Man

/ =
The b\alloon b;}r( noisily

past + do + NP + verd + Man
| | } ——
Did the balloon burst noisily

past + do + NP + verb + wlrMan
*Did the balloon bupst’  how?
Wh + Man + past + + NP + verb

Ht‘m did the balloon bu(*st?‘

9, (This is a passive construction.)
NP+past+be.+ an + verb + Man
The child \vé neglected caz\'elesaly ::-?'7
past_*he$f¢?+en+vérb+ Man

M the éLﬂd neg\‘le{ted careielssly @

paét\\‘!)me + NP + en + verb + wh=Man

' \ { ,_.....,"“ﬁ
*Was the child n}Eh/cted how ?
'Wh*;Man-l-past-l- + NP + en + verb

]

How \ the child ndglectad?

17 SealCh
- M
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E 10, NP + past + be + ing + verb + Man

N\ ~7 » p
. The runner waa steadily f
o pasi + be + NP + ing + verb + Mean .
N \ﬁ/the runner gaining steadily

past + bz + NP + .ng + "arb + wh=Man N
) ~" i { —
*Was the runner gaining how? '

Wh + Man + past + be + NP + ing + wverd

i \ g j \—
Lo How was the runner gaining?

Exercige 11: Page 38

Answere will vary,

x Exercige 12: Page~ 39

;« A. 1. Where has the doctor been?

|

B

V’/ 2. Where might she have been yesterday?
3. Where did Jack stay?

N 4, Where was the principal?

5. Where can he remain?

. ' 6. Where must the fire have been?
K 7. Where did he build a fire?

8. Where did he run quickly?

X - 9. Where does Jack sing?

g 10, Where did we take our books?

B. Answers wiil vary but might be similar to these;
1. We went to Australia for a vacation,
2. The puppy is happiest in the mud.
3. William goes to the University of Oregon,
4, Joan is going to Portland,
5. Ken is in the stable, -

. Exercise 13: Page 40

A, 1, NP + pres + have + en + verb +
= N\ e~ } SaREN
B The aoctor has been here

pres + have + NP 4+ en + verb + I00

Has the doctor been here

pres + have + + en + verb + whelLoc h
*Has the docter: been where?
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g G
1,‘5"“". ~
Vh + loc + pres + have + NP + en + verb
s’ﬁ' ‘v\fhxre has the doctor been?
2 NP + past + M + have + en + verb + Loc + Tm .
v \ i ‘§ '\ V4 l "“'#
She mi have been aw{y yesterday
past + M + NP + have + en + verb + Lec + Tm s
! \/ ' \ \\4" ‘ ‘ e 4
T Might she have been awsy  yesterday

past + M + NP + have + en + verb + WheLoc + Tm

v ~” 1 | N / /=

['} = *Might she  have been where yesterday
\Etl Wh + Loc + past + M + NP + have +en + verb+ Tm
o Where migat she have been yesterday?

3. NP + past + verb + Loc

»
.Y / T -

Jack stayed upstairs

past + do + NP + verd +
N/ / / —_
Did Jack stay upstairs

past + do + NP + verb + wh/-Loc

*Did Jack stay  where?

Wh + Lze + past + do + NP + \}erb

/7
2 Whaere did Jack stay?

4, NP + 'past + verb + I}oc

\

The principal wsas out
past + verb + NP + Loc¢ \

Was the principal out

past + verb + NP <+ wh-Loc
S / """‘———c'%
*Was  the principal where?
Wh + Loc + past + verb + NP
\ \—
Where was the principal?

P EY - S - o RS - —— - ‘ - - e o g
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5. NP + pres + M + wxb + loc
\ \// i { “_..."::"“..l}
He can remain there

preg + M + NP + verb + Loc
é/ | ;
en ke reniain there

res + M + N’P + verb 4+ wh=~Loc
p i —"_.-..'.'.‘:_'3\

*éﬁ he’ remé.it\n where?
Wk + Loc *é-pres-l-M-i-}YP-i-verb
\

Wh;re . can he  reain?
8, NP + pres + M + have + en + vorb + Loc .
- The fire must have been near
_ pres + M + NP +have-i-e~n+y;erb+ Loc
N | : \~ /=
L Must the fire have been near
: preg + M + NP + have + en + verb + wheLoc
A ~ { \ v =
i . *Must the fire  have been where?
\ Wh + loc + pres + M+NP+have + en + verb
' Where must the f!re have hegﬁ?

Exercise 13: Page 40
The Loc element may vary in gtudents® answers,

B, 1. Have you put the bucket there?
You have p\.t the bucket theve. (or someplace)

2. Doesr the water go uphill?
The water goes uphill. {or someplace)

< 3. Were the doughmits here ?

¥ The doughnuts were here. { ur someplace)
4, Ave the fish biting in the lake?

The fish are bitingin the iake, {or somueplace)

g 5. Did the rainbow appear in the sky? (or someplace)
- The rainbow appeared in the 8}
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Exercigse 14: Page 41

1, When will we raeet?

2. When do the students isgue the school paper?
3. When did Dolly withdraw her name ?

4, When will they be vacationing abroad?

5. When did Kern become captain?

6. When should you do it?

7. When must the plane have vanished?

Exercise 15 Page 42

A, 1, NP + past + verb + NP + Tm

Davie rai a mile iast night
past + ¢0 + NP + verb + NP + Tm
\ | | ""“'7

\
Did Davie run & mile last night

past {f/dp + NP + verb + NP + wlr/h-va
*Did Da‘vie wL a tm'{e when? ;

Wh + Tm + past + do + NP + verb +/NP

\—

WLen did - Davie run a mile?

N / / )

2. ?P + pres + M + jﬁ,-rb + NP + Tmh
e will finish the work in the moerning

W
pres + M + NP + verb + NP + Tm
~ / / [\ ==
will we finish the work inthe morning

pres + M + NP +verb + NP + wh-Tm
4 s

|
Mﬂ we finish ‘he2 work wh‘en?

wh + Tm + pres + M + NP + verb + NP

\4/"
Wi\len will wéf l[inis( the w/ork?
3, NP + past + verb + NP + Tm \} /‘

N\l [ A
fkidmore caught thirty mice last month
past + do + NP + verb ¢+ NP <+ Tm

DL W PP 9

Did Skidmore ca&ch t’hirt‘y mice last month
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past + do + NP <+ wverb +
N

\ \
*Did Skidmore catéh thirty mice when?

NP + wheTm

Wh + Tm + past + do + NP + verb + NP

\ | {

When d{ Skidmere catch thirty mice?

4. NP + preg\}have-i'eni-he + ing+ verb + NP + Tm —%
\ s
Philip  nas been piem bear{s a,n!day

pres + have + NP + en +be+ing+ verb + NP + Tm

[
Has Phﬂ{p t)é; picking beans all day

pres + have + NP + en + be + Ing + yerb + NP + wh-Tm

NS
*kHas Philip been

Wh + Tm + pres + have +

picking beaés when? ¢

NP +en \?e + in\gg-i-)arb +}?P
Whén 1%/ Phﬂi{) been picking beans?

R NP + preg +be +ing + verb + + T
L \ / =
The captain is méeeting us at three o'clock

pres + '%-NE"'- \f'*/erbvNP + 7m >

the captain meeting

us at three oiclock

verb + NP + wlpn'i‘m

presg + NP + in ’ :
the tAptam eeting ua when? ;

Wh+ Tm + pree+ be

+ NP +ing + verb + NP

W'}@n i} -~ the ci\ptain ﬁ\r{et:ng us?

R. Because stud ents must add a time adverbial their answers will
cbviously vary,

1.

2.

3.
4,

5.

Will Steve return ’comom'ow?

Did you see Mary yesterday
Were the Kimballs com i'ng at noon?

Steve will return {cmorrow.
Hou saw Mary ye tnrday..

The Kimballs were coming at noon.

Are you finishing the course now?

You 2re finishing the courze now.

Has he called his mother today?

He has called his mother
today .

e whoein
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Fage a3

The subject replacement inwolves the ordaring of the transformation,

In other words, in the formation of this queation the order in which the
transformeticns are applied becomes especially important, The do=
support must not be added immediately after the yes=or-no transfocmation
ag8 we have done before, because in the case of the subject question aiune
it ceases o be necessary, Thus: -

05 o wp + hit+ NP

tn{s+____ Fr\eddy ht t;\éball

wh=attachment bt
~tns +__ wh=NP + hit + NP
\ o
togs +____who + hit + the ball
Twh
wh-}‘:P*-tns-!-hit-i-NP

W‘ﬁo 1}1/ the L&L

Some students may find this difficult at thig point and you will want
t:- deéidlz twhether to tzach the subject replacement at this time or leave
itun er.

Pag% % Class Exercige
ou want to use these questions as a basis for class discussion,

1, The first question is a yes-or-no question

Z. 1) The class is holding the dance in the auditorium,
2) The team will arrive on time,
3) The girl kas made the refreshments,
4} Joe answered the questions honestiy,

==

3. Yes, The second question in each group is buiit on the firs,

4, 1) Where
2) When
3) What
4} How

3. iYWhere replaces in the auditorium,
2} When replaces op time,

3) What replaces the refreshments,
%) How replsces honestly.
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8, We cell it wheattachment,
7. Thke question word ig the first word in the sertence,

Page 45
If you use this section be sure to discuss curefully in class the paregraph
at the top of page 45, trying to get your students {c see for themselves

the relation between the subject replacement and the other kinds,

Bxercise 18; Page 49 "
1. Kernel NP2
NP '+ past + witness +
Mr, Trask withesaed the aceident
LG 2
past +_______ + NP + witness + NP A
N\, N N \ =
past Mr. Tragk witness the accideont
wheattachment
P@B\t + wh=NP + witness + N 2
*past + whko  witness the accident
Teh
‘Wh+ NP, + psast + witness + NP
\ " i
Who witnessed the accident?
2‘ é{-e;‘-% 2
N{P + past + hit + N\P
The ball N the s
)
“past ¢ NP + hi\m K
past + _ the child
wh=attachment NP hi NPz
past * _____ whe + kit +
h; [ ==y
*paat + t I t the chiid?
Twn '
‘Wh+NP + pus’: + _hit + niP
\
What Tadt the child? ﬁ
| | i
|
> {
: «ﬁ?ﬁ@nf——w’;’; ',:’,N‘T‘_ ooy o';'i}‘xd‘ T e TR {Q o N ':3 "7—_”;—_%_*;— Ja
el e \ohen A fem e e R e e e S ..Zf.
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3. Kernel
+ past + mutilate + NP

. - f
The puppy mgatilated the pie

Ta
~past + NP + mutilate + mf\z

pa.\at + the\pt‘xppy mutilate the/pie?
wheattachment

T S
AT

=

past + wheNP + mutilate + N{z
\ e
vpast +m_\what + mutdate the pie ;
Tan

‘Wh + NP, + past + mutilate + NP

W}at m&@d . the ;(ie?

4. Kernel 2
NP . + past + M + have + en + name + NF .
N \ \\ \ =
The president 1d have named ‘he committee
T
il ~ } 9
past + M + NP + have ¥+ en + pame + NP
Should the president have named the committee?
wh-attachment b 9
pagt + M + wheNP + have + en + pame + NF
\~ \ L AT =
*Should who have named the committee
Twh |
ZWh}-t'NP + paa{;)d + have + en +npume -&}TP
\
Whe should have naned-the committee?
S EKernel 4 ” -
NP + pres + M + dictate +
AN N ! ““"'""}
‘“he teacher will dictate the questions
TQ

pres + M + NP + dictate + NP2

Lo

Mcher dictate tho Mucstionas
Will the tehcher dictate the duestions?

-
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> wh=atiachment 9
pres + M + wh=NP + dictate + NP

VAR \ \ =

*Will who dictate the quastions?
Twh
Wh+ NP +pres +M + dictate + NP2
: N dierdte the g
Who will dictate the questions?
8. Kernel : 9
4+ pres + be +ing + block + NP
~ \s/ \ ==
A pisno blocking the doorway
TQ .
“pres + be + NP +ing +block + NP2 R
N / Ve | ===
Is apiano tblocking the doorway?
wh=attachment 2
pres + be +wheNP +ing +block + NP
" { o / =)
*Is wiat blocking the doorway? '
Twh |
Wh+NF' + pres + be +ing + block + Np?
\ -~ /
What is blocking the doorway?
N{’-’-pres-!-M-i-be-!-a‘dj‘ : >
Dictators must be careful

T .
‘g’eg+m+mp+be+adj }

Must di 2 be careful?

wh-attachment NP b &
pres + M + whe~ + be + a8
\~ \ { =]
*Must who be careful?
Twh ‘
'Wh + NP + pres + M + be + adj

-~ \
maat be careful?




e
§. Kernel
I‘&"\-i- presj/have + zn + be + ing+ sweep + Nél’2
S, .
Mealigsa has b:'é;;/ \mvgéping the kitchen
X~ 2
pres + have + NP + en+ be + ing + sweep + NP
’ \_— | ===
}és{ Melislaa bé{e{ swée/ping the kitchen?
wh-attachment
pres + have + wh-NP + en+ be + ing + sweep + NP2
N \ \ v /=
*Has who been sweeping the kitchen? -
Twh )
"Wh+ NP, + pres + have + en +be + ing+ sweep +
\ \/ga
Who has oeRn sweeping the kitchen?
9. NP + pres + bhe + ing + get + agj
The room is g g noisy
TQ

preg-l- +NP+in{/geﬁ+dj _—_____')

Is the room getting noisy?

wh-attechment
pres +be + whe=NP +ing + get +adj

*is// wlﬁt gé(h; noisy? =

‘Wh '+ NP. + pres + be + ing + get + adi
"

\

What is getting noisy?
i0, NP + post + win + NP

N \ { ‘=%
The Robert E, Lee won the race

Tg
past + NP + ) win + Ing
past +____ The Robert E. Lee win the race ~ :
X } bert E. Lee \ﬁ} he
wheattachmen? 9

past +___ wh"NP + win + Iii’P \7
”a‘paat + wAt WLI the race

TR e

y ; > .
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Twh
‘,".&'h\+ NP <+ past + win + NP
What won the race?

Page 80 egtions for review
. Question transformations operate on basic kernel strings to form

2.

3.

10,

various kinds of questions.

This transformation is called T In it tense and either M, have
or be~~or aimply tense alone=~change places wiih the sub Té'ci'ﬂ’?’
If tense alone changesiiaces, it then becomes necessary to add &

for it to attachto., (Tns + John caught the fish? Tns + '%
John catch the fish?)

If the verb is Be, Tns + Be moves to the front. The verb Be h:s
the quality of simple inversion,
You are ill ‘—"*""? Are you il1?

If there is neither M, have, be or the verb Be, do must be added,

The three transformations which produce the object replacement
are T (yes=or-no), wheattachment, and Tyh (whick moves the
questi%n word to the front of the sentence),

Wh-aitachment simply means attaching ssh to the underlying symbol
of arés element in the sentence, This element then becomes a question
wor

Wh ineans the word it is attached to is going to become & question
word, Wh=NP ho(m) or that
what
wh=Man = how; wh-Loc -==) where;

wh=Tm @ when,

The Tyy transformation hirings the element with wh attached to the
frout of its siring.

The ew question is formed by applying Ty, then wh-attachment
and finally Twh, Al other questions are formed in the same way.
In the how cuestion wh is attached {6 thie manner adverbial. In the
time question wh is attached to Tm. In the place question, itis
attached to ' EHE€ 7 In tie subject replacement it is aitached to the
subject NP,

All questions are related by going first through the yes-0or-no
ransformatioca,




=72

Exercige for review: Page 50 '
Answers will vary but E% be similar to these examples:

1.Wn~wrm+md/do+nv+ver+m>2
Jane bAng the flowers?

3, Wh + Loc + + be + NP 3
\, _
Where Joe? 9
3.Tnﬂ\+/M+N’P+have+en+Vmid+/NP2 .
Would J have D@ the medsles? B
4, Wh-ﬁ'-Man+tus+dn+NP+Vtr+NPz
\ .~ / { l
How does Janet liks ice cream? B
5 Wh + NP + tng + Vin + Man
{ A Ni
Who reacted suddualy?
6, Wh + NP® + tus + M + NP + Vtr
\ N\ { {
Whom should Joan  lowe? N
7. Tns + be + NP + Pr
” / '*.3‘.

Is Stella pretiy?

B,
ie Wh+ Tm + tns + M *‘}H? + Vink + Pr
\ \—" / /
When must a story ring true? .
2, Wh + NP + tag + be + Pr *
/ Ve {
Who is Sylvia? 1
3.Tns'+do+NP+Vmid+NP2 '
\~~ | /

/
Does Bill have a ccld?
4, 'rns\/ba+NP+mg+Vr+NP2
Joan eating an app:e? i
&, Tm*have-l-NP-!-@n-*Vir-l-NP
(e g{ l X |
Has Jac aaten the apple?
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b 6. Wh+\m’+tns+have+ew+x.\f2
i’ W}o h\a(/ ea¥en the appie?

Exercise for review: Pages 51=52

" Ao N

3 L ..-+pm+b¢#w.g+ver@4l\1@“

A Beatrice \4@ wem jeans ?

g TQ (yes=or-no)

X paa\t\ + be + NP + ing\-ly'b + 1?93

i Wa/a/ Beathice woXFing jeans?

2, NP %past\:ye’i-en-l- b+N(’2+Tm

m: The profesgsor had roturned the exams ygaterda 0
< TQ fyss~or=no) .

B past + have + NP + en + veib+ N3<9=+Tm
N

( Had the professor returned the exams yesterday?
A . 8 NP  + pasi + yerkb + Loc

. \~" / =3

E The children stayed indocrs

= Tg

past + do + K’;'IP + vezib + Loe

% &f/the children stay indflors ;

NS wheattachment

past + gﬁ + N\P + verd + wheLoc

L7 \ ::%
*D\i\a/ the children aiay whe!re?

1'?* Tty

Wh + Loc ¢ pagt + do + NP + verb
2 ) ch{l}‘ /

o 5 Where did the dren stay?
o 4, NP + past + wavp+ NP

The pygmy bought a toothbrush ...,....%




m\?5~
\'llgvesl -OMwns p
past + + NP + verbh+ NP

=

\
Did the p\ygmy Ay a toothbrush

wh=attachment
288t + 00 + NP + verb + wheNP2
*Did  the pygmy buy wllat? ==
Zwh,
Wh + NP2 + past + do + NP + verb
| .‘3:.}5,5.* did the :\ﬂgmy b\xy?

NP + past + verb + NF + Man N

8,
The hnate }te/ theT:up n}ﬁsily ==:?

Tq {geg~or-no)
past + do + NP+varb+NP2+M
\ \ \ t"l:::‘q
Did the inmate eat the Soup noisily
wheattachment

past + do + NP + ve:\'b + N{z + w?-Mam
\ ;
*Did the inmate eat the soup how?

==

Twh
Wh+\Matl+past+do+1\I‘P+ve‘rb+I\;P2
How d\.\d/ the inmate eat the soup?
. + p + + + :
€. NP preg M verb Man 0______%

l |
~he eiwir can sing veautifully

Tg  (yes~or=no)
ores + M + NP + verb + Man

\ \ =%
L the onoir sing beautifully

whegtiachment
prea + M 4+ NP + werd + whe=Man

\‘ L —
*C&{ the ;\hoir s*}zg how? ?

Tyh
Wh + Man + preg + M +N‘P+ve:§b
' /
How can tke choir sing?




N 1

7

9,

NP + pres +
\
‘The boys will

Tg {yes ~or=no)

76

n‘ C*T“i{‘ _:_:__%

1o the coast next veek

pres-iM-i- P+verb+L§c + Tm
A

Y the :ons méile to

-"‘..........."'37

whezitachment

the coast next week

A

preg + + NP + verd + Loc + wheTm
\)ﬂ \ "'"'§

*Wili
Twh

Wh'+ Tm + pres +

\
the boys ride to the coast wher:?

N\

!
When will the boys

NP + past + M + verb +

\/’/
Mother should

2
/ l\/:? ===

join the PTA

TQ (yes=or=no)

pagst + M

Siana

* NP 4 vh + N 2
mother join the PTA

whe=attachment

past +

\ \.
#Should Mother join  what?

NP + past +
N
'rhﬂ‘ambs %ad

M + NP + verb+ wh'-NPz

+NP2+past+M+NP

What shouid moth{er
have+en+)e+ing+ erb + Man

bet gamboling

?.Q 8(yes =01 ~no)

past + have
SN

Hax

+ NP + en + be + ing +

the lambs been gamboling

wa

+ NP + verb + Loc-

/
ride to the coast?

=

+ wverb

/
join?

=

lmp&fﬂy

b + Man

har!pﬂy _:_;\7




7=

wh=-attachment
past + have + M\” + é’n\:i'/b/e + ing + verb+ wh~Man
*Had the lambs been gambniing how ?
Twh

Wh + Man + past + have + NP + en +be +ing+ verb
\ ~_~ \ \ N
How had the lambs been gamboling?

10, NP + pres + have + es{/be -!-ing + verb + Man

N\

o« N\ =
The 13wn his beth dr}ﬁ/ badly

Tg (yes «0r=no)
pres_ + have + + en + be +ing + vei: Man
e \/,/ V/
Has the lawn been drying badly?
11.NP+pres+verb+NP + Man _'___ ‘
Mo  odéks  French fil =
Frankie speaks French fluently

TQ gxes '-or-noz
Prﬁs\y+N\F’+verb+N2+ Man

Does Frankie speak French fluenily

wh-attachment 9
pres\ :,/du + NP + verbt+ NP + wh-Man
Does Frankm Spcgak French ho~w?

:::%

Twh
Wh + Man + pres + do + NP + verlL + NP

\ \ ‘ \
How does Frankie speak French"

oy —— = r =
. - . f - = B
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12, NP + presya + Loc

The basket thére

"OI‘ -no

""“ o Do e =
the et theYe —--—~ |

L J

wh =attachment

pres + be ¥ NP + %-ldc" )
N | \ ::%

] the basket where?

Twh
Wh + Loc + pres + B2 + NP

N /
Where is the basket?
. 1, + + + 2 <+ +
B NP past }e ing verb NP E

\
Katy \w€s drinking her/ milk
To
past + be + NP + ing + wverb + NP%
~" [ i// : ! .........)
Was Katy drinking her milk
whe=attachment heNP b 2
past + be + wb= +mg!'ver + N
Wus wi_xo drinking her milk?
Tuh
Wh + NP +past+be +ing + verb +
t v %/
Who : was  drinking her milk?

2. NP + past + verb+ Loc
N | ==
The children 8tayed indoors
—_
past + _ NP + verb + Loc

\ —

pagt +_____ the chiildre}s&av indoors




«7Qw

whmaﬁ&chment
past + wheNP + verb + Loc
v

}Bf: + e st/y in}loora
"'E%\Q‘(P-i-pas%%vrb-FL?c

Who “gtayed WASOTH

x 1" § %) v &:/-'!I i AVAGE S ) ‘é":.#
omexang hit the tree forcefully

past + do + NP + verb + NP2 + Man
Did the boomerang hit the iree forcefully

wh=aitachment 9 |
past + + NP + veg;b + wh=NP*“ + M/a.n

*\bid the boomerang hit what forcefully?

Wh+ NP2 +past+do + NF +ve}'b + Men
What d the boomerang hit forcefully?

4, NP + past + verb + loc .
éﬂ \.//e =7
Py

nce appeared on ihe stage

Did Prudence appear of the stage

\ wheattachment -
past + do + NP + werb + wh=Loe

.\ { ! \ ===y ’

Did Prudence appear where

\past\-iy@’ovﬁiwvr;!iﬂk Lo\i =

Wh+\Loc+past+ o + NP + verb
Where . did Prudence appear?

5, NP + past + verb + Tm e

\ ~ { — ]
Chaucer lived in the fourteenth century

wst + do + NP+ verb + T | =,

\

d Chaucer 1live in the fourtesnth century

whe~attachment
p&@t + % + NF <+ werb + wh-Tm

‘3 Dﬁd Cm\v}zar Yee when 7 ¢




V.'h+\'1‘m+pa@t+do+ I\IP + verb

/

~—-When did Chaucer li\{e ?

6. past+ +ha\ve+en+verb+l.fc
ather\oza have ained outeide T

paet+M+NP+have+en+verb + Loc

R e ntndd
ARPOETRSSEO,

N~ \
Could gran&ather have ré}{med ouimde

wh-attachment '
?a&" M + NP + have + en + verb + wh-Loc

B
e S P

¥ Could grandfather ha\ve Mﬁﬁed where?

Wh+loc +past+ M + NP + have +en+ verb
\ N granttner b zeliimer

Where could grandfather have re
‘7. NP + pres + M + verb + NI-"2 + for the billfold (This is a pres-

\ \ / f j pogitional phrase of rea-
[

son, You may went {0 let

—--7 your studentz
Pe\er will  give money for the bilifold put "Resson" ia
the symbol string, .
T or you msy iet them amply
Q
2 write "for the biilfold, " sinc
pres + M + NP + verb + NP® + Reasod:. we.haven't yet pre--
AN / } ¥, | é =3 sgented thiz
Will Peter give money for the billfold t? kim; of
adverb,

wa~attachment
pres + M + NP + verb + wh=-NP?% keason

% | e / m—
Will Peter give what for the billfold ?

Twh |
Wh -!;\ NPe 4 pres + M + NP + vefb + Reason
What Peter give for the biilfold

8, NP+pres+M+verb+NP+Loc

| "-::ﬁ
Pelen wilI have dinnér il The Spacencedie

Wh + NP « re9+ +verb+x“P+
\ 2 M Lﬁ" =y

el
Who > hafve éi;mer i the Spacencedle?
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9, NP + past + verb + Man + Loc 5

N
The strikers paced steadily up and down

To
p‘é’sy+NP+verb+m}n+Lﬁ\c \
d the stL:Z,kem péces s\:ea‘x‘dﬂy up and down
wh-attachmeont
pazt + »#NP«P'verb-%-wh;Man%-l;ae
*%id striers psce  how: up and down
Wh + Man + pasi + do + NP + wverb + Loc
| pagy Lo+ NP ® vep T IR |
- How did  the strikers pace up and down

”é

A




